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DSSSB JULY 2018

PGT PHYSICS FEMALE

—y

sechion : Mental Ability

Q.1

Ans

If *book” s called "school’, “school” is called ‘pen’. “pen” b callled “eraser”, ‘eraser” is called ‘bag’ and “bag” is called
‘sharpemer’, what will & s5aden write with?

Cueestion 1D - 1679436625

&< 1. Pen
« 2 Eraser
X 3 School
X 4 Bag

Q.2

Ans

I+ ** mseds for ‘addition’, <" for ‘subtraction’, %" for “divislon’, *=" for ‘multpdication’, * = for ‘equl to', 5" foe
*grewter than” and “=" for *|exs chan’, e stane which of the Sallowiag siwensssts is tue?

Guestion 1D - 1679436633

X13%4>2-99%3<3
V2 5>202#10<4*8
K3 5%¥3<758%4%]
X4 3%2<4516>2%4

=)

Q.3

Ans

e = rma

frfafla # ¥ Rvw w=e-gen &1 =397 F:

Cruestion 10 - 1679436621

v For BT
X2 AT qat

xa.m_:_gm‘?r
X4 g8 ey

Q.4

Ans

m:ﬂmmtﬁqnﬂm:ﬁmﬁaﬁtqiﬂmmmﬂmh[

CQuestion 1D : 1679436624

v G
X2
y S
X4 H

Q.5

Ans

Rohinl s walitsg straight sewssds Exel, Afer walkiog TF paetres, the nurms 6o the bl and walles 2% metres straight
Again, she veens 00 e lefl, walics 30 mneires Simiple. Apain fens 10 e Jeft and walls 25 metres smight. How' far o the

fiom the starting point?

Qeestion 10 : 1679436617

' 1 35 metres
X 2. 33 metres
X 3 45 metres
< 4. 47 metres

[

1
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Q6 :ﬁmmﬁ.mﬁwkhummmH.mhm:mmﬁmlﬁuhmlmmlhﬂm Question 1D - 1679436629 I
HIIE T WA
e TV WYTE
Ans  of 1 KM20
X 2 KN24
X 3 KL20
X 4 KM22
QT M Em T RT L R AT a Y ¥R Question 1D - 1679436619
Ans X 1.
X 2 FE-FF
v =EF

X 4 Rreter

nrn Criven i 8 ahenent aod Mo msnspliond. Selec) the coirect coummnst about the avsemption fiom Ibe proco option:s

Siatemwent: CQuestion |0 : 1679436620
Cipening  post oflice in City A i wasteful, ———

Assumpiioms: i T'
L There is an adequate ounsber of post offices im City A
1L Inhabitants af Ciry A need poat offlice,

Ans X ¢
Only assumption II is implicit in the statement,

v 4%
Only assumption I is implicit in the statement.

p !

Neither assumption I nor II is implicit in the statement.

x 4 .
Either assumption T or I is implicit in the statement.

n_ﬂ Yiera e & teven beadiw of § soltars compaeny and Pao of vour friendi ane baving & @mioed felalionihip with sach ot
As o neael sheyane Bk condritmeing well s group scthvities. Biow will vou handis soch & sinscog” Question 1D - 1679436632

Ans o 4

Wit bseldeve, “How' ans | bothstved wih such peety o™ Al lewit U task is bl done by others: 2041 i fee!™

x 2

You will punish them for not contributing by keeping them out of the ream.

xs
You will give them complementary tasks in which both have to work together.
v

You will make an explicit effort to help them shake hands.

Q.10 i i is simi i i
From the options, select the pair that is similar to the following pair. [ Ouastion ID - 1679436627

Badminton : Court

Ans X 1. Boxing : Arena
v 2 Cricket : Pitch
/< 3. Skating : Court
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X 4. Cricket : Ground

Q.11 sndy ﬂ:epmdupmﬂnl’ulh ard asrrwer the question that fodlows.

el sseps i Question 1D : 1679436622
([} Revtanghe represents ‘fenule”
{iv) Trissgle represents “sducated”

/G iﬁ'\ls

g 15 La 1

_—1

Which of the following options represenis the mamber of government emplovess who are nol female, not urbas
A nat edhicated?

Ans  2C 1. 10
V23
X34
<413

.12 n ke following matrix, oo block ha 2 question mark in it. Select the ooimect fenm from the alernatives gives ihat can [
replace question

Cuestion 1D ; 1BW:.

7 (L) M

A of 1. 29
X221
Xa27

X423
__. — =
Q.13 l\mahlbelmmtlhoiﬂhl ﬂh sedter-in-aw of YVijmy. Vel is the father of Karthi, who i3 te only
beotties 0 Vigag: Fow i Vijay pelicect i Cueestion |D - 1679436626

Ans X 1. Brntherpm-iaw

v 2 Son

X 3. Brother

< 4. Husband

Q.14 & mF mawrh & oo # 98 3 e ve = T 8
wz, i, w3 Wl W o i & T b ot st wnh o ane af @ T ) ogaE Ceestion 1D - 1679436618
Fmmr, Taww A mw o &l E 7
Beiafas & % o o ey Bifes = & e e o

A X1 g St T W deT
X 2 IS qEY TUH W AT
X3 HdAe Ay T W AT §
v HEE 9B TuE W der ¥

Q.15 [

Cuestion 1D 1679436623
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Rr v fwedt # &, A R v I & FAw S & o9

7
o

Ans S'B
X1 %

Q16 How many triangles are there in the following figure? [ U I —

Ans of 1. 16
X212
X309
<420

QA7 ﬁnﬁF&FMﬁﬂtmwﬁmﬂmﬂﬂn.nﬁﬂmmmh[

Cuestion 1D : 1679436634

I, # w2 rpEwe oo i, B & St & Rt # ow o @
Il &% saat Mt wteil & TRT Setid @ @ HniE @R T 9 T T

ans o
Fue | 3T Il ST 3reeT-3renT FROT F 9RomE §)
:ﬂ;llmﬁ'iﬂtlmqﬂ'ﬂm%l
;ﬂglm%mllmqﬁumﬁl
:ﬂ;laﬂTlla‘lﬁaﬁi‘T—mmﬂT?l

e 4 S0 s’ e et what skl doss R oceupy o he rons™
ars o1 jgth

X 2 jgth

X 3 5th

75 4. ~oth

A8 ina quese. Monika is 10™ from the froce. Kanya is 29 foom the back assd Riohini iy jnst in the middie of s o 1f _
Cuestion 10 : 1679436630
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Q.19 Read the given stasements zad decide which of the given copclasicas logically follows frons the statements

Question 1D : 1679436635
Seatemments:
Mo [l s pamine
o jasmine ks mse,

Conclusinms:
L Mo Erait is rode.
1. Soqme Joses ATE pRANanes,

Ans (1. Either conclusion I or II follows,

#< 2. Only conclusion II follows.
X 3. Only conclusion I follows.

o ¢ Neither conclusion I nor II follows.

Q.20 &= sfeme 3 o § 79 & o =uw 8w o | o e o T = ooew &5
[ CQuestion 1D : 1679436631

iR (Al
W & gER e A ARt & g sdere ot @t b

& (R)
it i s e b

Ao A 3R R & s E

xz
A 3t R 2= wex § 3t R, A F7 O ToedeT B

X2 A gcm ¢ T R 39T &
X4 A 3T § afFT R 5T 2l b

Section | General Awareness

Q1 ¢ & £ =0 I crha Fieed Sew 2018 & ¥R W SEwT Ty [
Ans X1 24 o

VERTE

X3 7 gf

X 418 df
(1.2 incis CorneiyhIMRINER Meosisse ith Which Srachise i the Tian Premier Longoe cricie kumameat?
Ans X 1. Royal Challengers Bangalore

& 2. Mumbai Indians

« 3 Chennai Super Kings

/< 4 Kolkata Knight Riders

Question 10 : 1679436655

Cuestion 1D : 1679436650

Q.3 FoiRm & # e amw i T qE Et s P w2018 e o9 & wiew e

e X g s
X 2 wfaar g
v o sifRer seaETer
X4 oo, OF sitaw

s YuITE TETS! T RE R l Question 1D - 1679436640

hittps:/icdnd digialm.com/iper/g01/pub/ 1258 touchstone/AssessmentQPHTMLMode /12580182581 258018258560526/15309711977835355/2030,.. 573

Cruestion 10 - 1679436651




72018 https:ifednd. digialm.com/fper/gd1/pub/1 258 touchstone/AssessmentQPHTMLMode /12580 18258/ 25801 8258560526/ 530971197783,
An
P X s Ak weR
v o Few g
X 3 TIEUH
X 4 3T gaer
A8 g PRRE & ¥ B T5T 1 v 9T o g Question ID - 1679436648
A s sk weR
X 2 mex geer
X3 seaTEs
X 4 TdETe
Q1.6 [z wihich yess was the Insumece Regulatory and Developenent Authoriny {IRDA) constituted as s sutooomons body™
Ans X 1. 2005 [
v 2 2000

< 31991 -
< 4 1988 p i

: i
Q7 In which state is the Jawaharlal Nehru Sea Port located? | " Question ID : 1679436641
Ans X 1. Kerala »
' 2 Maharashtra

X 3. Guijarat

X 4 Odisha

Question ID : 1679436653

@8 The first Emperor of Mughal dynasty was: Question ID - 1679436638
Ans X 1. Muhammad Shah
v 2. Babur
< 3 Humayun

& 4 Ahmad Shah

Q.9 With which musical instrument is the famous musician T. K. Murthy associated?
CQuestion 1D 1679436647

Ans o 1 Mridangam
X 2. Sarangi
X 3 Sitar
X 4 Jaltarangam

in Slapapoce?
Ans (1 1042
v 2 1943
X 3 1944

Q110 1o which of the following yean did Subas Chando Rose maegumite the Az Hind Sadow | Goversssent of Free Endi) [

Cuestion 1D - 1679436637
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X 4.194]

Q.1

ﬁiﬁﬂﬂa@i#maﬂamamqﬁzh[

Question 1D - 1679436649

X1 AT

-
X 2 TR
v o FEas

X4 SO

Q.12

& wfEdt & o wew sy o e o
= b

& mor wrw | o e el @ e

Qeestion 10 : 1679436652

v arsdragor gfghar
X 2 e gfekar
X 3 gueer sfear
X 4 Fegrae gfesar

ey

Q.13

Where was the 23" meeting of the Western Zonal Council held?

Question 1D : 1679436656

« 1 Gandhinagar
< 2 Pune
& 3 Ahmedabad
X 4 Bhuj

[l

Q.14

When was the Foreign Exchange Management Act (FEMA) enacted?

Cuestion 1D - 1679436645

v 1 1999
X 2 1982
X 31947
X 4 1963

Q.15

The Finance Minister of India is appointed by:

Creestion 10 : 1679436643

¥ 1 the President

& 2 the Prime Minister
& 3. the Vice-President
X 4. the Attorney-General

Q.16

Ans

F T NUA F R § AR 123 ¥ AR Foudy W s A e i

Cruestion 10 : 1679436642

v gt
X 2 gerAEr

X 3 FEOTIEEr
X 4 T

Qa7

Ans

The Harappan site Kalibangan is situated in the Indian state of:

Cuestion 1D : 1679436639
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X 1. Gujarat

X 2 Bihar

+ 2 Rajasthan

X 4 Madhya Pradesh

Q.18 “‘h.alu:hemkmpudb}'Mnmmgdrmmitsnf&nwaddiu:mofupmwlumﬂ[
s x 1. zzn{l
X 2 1411'1

X3 jgh
“4 lg.ﬂl

o GrfaE # & F e 3 | Quaslon D 1678438644
" ufé'mnamrmmmmﬂmm
:;ﬁxmmmﬂmﬁﬁmm?'
:;ﬁ#mmﬁmmmﬁ
v |

30 W # 37 F AT TST F TAIT & FHA &l

Q.20 What was India’s electricity generation growth rate in March 20187 [
Ans  of 1.4.5%
<2 33%
X3 5.7%
X 4.2.8%

Question 10 - 1679436646

Cluestion 1D : 1679436654

Section ; Arithmetic Ability

Question 10 - 1679436665

q_'l Thee difference berween the compond interes! and the simphe nteres! on & mm o & pane of 20% per s for 4 years i
¥ 6540, Wit will the same s becomse at half te pase and for 22 veary?

Ans X 1. T32,762
X 2 T32,762.50
V'3 T31,762.50
X4 T31672

Qz T buised, A aod B, siact &b the e Hite Eom TS iascas waidd each otleer, aied b croaing each othie. A apd B
"™ peach dir destimations aftey 6 boors 40 mimees and 3 hones 2% minutes, respectively. I the speed of B i 64 lom b then y .
ik dechtin Question 1D : 1679436669

Ans o 1 48 km/h
< 2 36 kmh
X 3 32kmh
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X 4 50 km'h

0.3 A orvusm rwo-digil e i thiee s the sum OF s digite. 1745 i s 1o the munber, the digiti s isterchanged
Whar ks the prochuct of the digits of de mumber Ceestion 1D - 1679436657

Ans (1. 24
X221
X312
v 14

nA Whes 34204, 31467 s 26541 are civided by the greates pumsher v, the renssinder |n cach case 15 1. Wt i3 the valne

ofix ~ 317 Cuestion 1D - 1679436668
Ans Jg_ 370

< 2 363
X 3 359
X 4 357

both the sumerator and the denomimator ane decreased by I.Ih:{mimbunmui.!h:diﬁumbﬁmlh:

Q.5 ll'lkmmnl!'lﬁzd.inuummedb}!mﬂh:dmnmnmummadb}'!.lht{mﬂimbumi.mdjf[
munserwor &nd denceninator of e criginal faction =

Question ID : 1679436661

Ans  OC g

®

X
W o =

Cuestion 1D : 1679436660

Ans

Xz

PG
< 4

B[ BT s (W s |

Q7 On simplificati 4.8% 18 +M+54¢f%—%
implification,
s . 2of5+5x2+2=-58[2+3{2-2x2+5}=10]+5

reduces 1o: [ Cuestion 1D ;- 1679436659

Ans

X1
vE
X
 E

nin Wik njle w|K

Q.B o ol i 40% s gew § o 3 A 7o of mW 00,800 # it v B ofr et & 5
wly waent W 45% wEy =g T 1,800 ¥ e s koA T 1,800 T7 IS N wEny aE mfm Question 1D : 1679436663
wATRt & v B b

Ans
hitps:/icdn4 digialm.comifiper/gd1/pub/1258touchstione/AssessmentQPHTMLMoade 1412580182581 25801 825856D526/153007 1 1977835355/2030.,. 973
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X 170
v: 75
X 3 45
X 4. 50
—
0.9 0.00281+ 0,625 0203 % 0.292 6E%0077 ! .
The value of = ¥ D073 R1ABX07 ' 65877 6es3s LS between: { Question 1D : 1679436658

Ans X 1. 0.11and0.13
X 2 0.09and 0.11
<3 0.15and 0.17
v 4 0.13 and 0.15

the same way: Whal is the miso of s voleme of the original cobe to turt of e saller cube?

Ans X 1 Zﬁ:l P
Kig:q e L
vi343:1 d

= E T
Q.11 e incomes of A, B and © are in the ratio of 7 - 9 - 12, and their expendinares are in the rabio of 81 9 1 12,10 saves Vil ™ & !
Sth of his incoe, then the rtio of the savings of A to that of B i o Question 10 : 1679436662

Ans X 1.5:6 P\ 9 4
Xz218:11 297
X36:5 [0 4
v l11:18

-Q__']z A shopkerpss nurks op his poods sich that be can made s Y% profil afier gaviag & | 2% discoun o te auied prace.

l!lm:m:nﬂ'mwl:lI‘-'-rl'lu-l:mmnlnmmdt"ﬁm“ﬂhhpumpaﬁwhﬂnphqmm H .
[l o Question |D : 1679436664

X1 33§
X220
v 2’@

X417
—

Q.13 The s of o abers i 275 e thei HICT i 3. € e of the 1 b lins beewes 100 a0d 160, e e
ik A Question |0 : 1679436667
Ans 11

KL —

250

XEI—I

700

V3 —

750
11

X4 —

&00

Q.10 Asphrfupﬂamdmlmbemciliﬂjlimbﬁuﬂmmﬂmmhe Now amother osbe §3 placed i this sphere in
[ Cheestion 10 : 1679436666

Ans

Cueestion 1D - 1679436670

Q.14 * menand 2 women can compleie # task in ¥ days, whereas 2 men and 3 nomen can complete the same task in 10 days
Huw-:wnm:bmldas&blimbom-plmﬁeutm%m«* [

Ans
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X114
X210
X328
vl

Comprehension:

Study the following pie-chart and table and answer the questions that
follow:

Total population of children below 12 years = 13200

Ratio between Boys and Girls
Village Boys : Girls
A 5:6
B 9:13
C 3:5 4
E 4 7:4

SubQuestion No : 15 » \ <
@1 What is the ratio of the average number of boys [ Crisstion (D : 1679438672
(below 12 vears) in villages A and D to that of
girls in these two villages?
An ofia5: 50
5 = a8
X 2,29 97|
X 3527 : 22
X 4 32935

Comprehension:

hittps:/icdnd digialm.com/iper/g01/pub/ 1258 touchstone/AssessmentQPHTMLMode /12580182581 258018258560 526/15309711977835355/203, .. 1173
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Study the following pie-chart and table and answer the questions that
follow:

Total population of children below 12 years = 13200

Ratio between Boys and Girls
Village Boys : Girls
A b
B 9:13
C 333
D Nt
E 7:4

SubQuestion No : 16

Qr'l Thse total mmiber of boys in five villages i what per cent of the totad mumiber of clidldren in these villape: ineaest 0 a
tiole mmmheri?
P w

Question 1D';1679436673

An X141 b Yo S

v 44
X350 - B »
X4 48 0 d

https:iicdnd. digiaim.comifiper/g 1/pub/1 258 touchstone/AssessmentQPHTMLMode 1/1258018258/1 25801 B258560526/1 530971197783,

Comprehension:
Study the following graph and answer the questions that follow:

Pescent profit eamed by Companies A and B over the years.
il _ Income— Expenditure 100
Percent profit = E iture x

70

65
&0
A5
45 \\‘ 45  —s—Company A
35 —&—Company B
30

./30
20 =20

=L

8

&

10
(0]
2010 2011 2012 2013 2014 2015
Years
SubQuestion No : 17
Q1 )
7 Question 10 - 1679436675
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In 2014, if the expenditure of companies A and B
was the same, then what was the respective ratio
of the income of A and B in that year?

An X 113:15
v 2 20:32
X3 28:31
X 4 29:33

Comprehension:
Study the following graph and answer the questions that follow:

Percent profit earned by Companies A and B over the years.

Income — Expenditure
Percent profit = = 100

Expenditure

70

)
2

5
I

as _ ~&-Company B

w 1,
0 «{‘ e

10

2010 2011 2012 2013 2014 2015

Years
SubQuestion No': 18

n.s1 If the expenditure of company B in 2010 was Question 1D - 1679436676
< 3.6 lakhs, then what was its profit (in lakhs) in
that year?

prl (Al P
X2 155
X3 124
viLa4

Comprehension:
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Study the followmg bar graph and answer the questions that
tollow:

Different types of vehicles (i lakhs) exported by a company in
2015 and 2016.

m 2015 m 2016

&

&

8

wnits exported (in kakhs)
B b 8 B

w

Number of

L=

A B C D E
Types of Vehicles :

SubQuestion No : 19

®

' The percentage change (increase or decrease) in the |

9 -
number of vehicles exported from 2015 to .Eﬂfﬁ-wm -

Ceestion 1D - 1679436678

below 10% in case of vehicles:
An o1 CandE

X2 AandC

) BandE

X 4 Dand C

— —

Comprehension:

hittps:/icdnd digialm com/iper/gd1/pub/1258 touchstione/AssesementQPHTMLMode /112580182581 25801 8258560 526/1530971197TB35355/203,
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Study the followmg bar graph and answer the questions that

follow:

Different types of vehicles (i lakhs) exported by a company in
2015 and 2016.

Number of wnits exported (in lakhs)
w &8 L B B 8 B 8

L=

m 2015 m 2016

SubQuestion No : 20

%2 The total number of A, C and E type vehicles
exported by the company in 2015 is what per cent

Cuestion 1D - 1679436679

more than the total number of B and D type v'nhie!es
exported in 2016 (correct to one decimal place)?

Y &3
r O
X 3
F.

29.2
27.4
278
28.6

Section ; General English

Q.1 Fill in the blank with the appropriate word.

I am not a movie fan. I

Ans x 1

> 2
v
X 4

Crsestion 10 : 1679436685

watch movies on television.

often
always

rarely

almost

hittps:/icdnd digialm com/iper/gd1/pub/1258 touchstione/AssesementQPHTMLMode /112580182581 25801 8258560 526/1530971197TB35355/203,

@.2 Fill in the blank with the appropriate idiomatic expression.

The teacher

v &3

Qeestion 10 : 1679436693

the students” request for an outdoor event in the hills.

turned a deaf ear to

1573
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/< 2. cut a sorry figure at
X 3 was at arm’s length to
X 4 took to task

Q.3 Choose the option that best combines the rwo given senfences.
Cruestion 10 : 1679436690

Caring for all buman beings is the essence of all religions. You should not forget ir.

Ans x 1.

Caring for all human beings is the essence of all religions what vou should not forget.

Xz

You should not forget it that caring for all uman beings is the eszence of all religions.

v &1

You should not forget that caring for all buman beings is the essence of all religions.

X a

Caring for all buman beings which is the essence of all religions vou should not forget,

Q.4 Choose the most it ion o co te the sentence. r
R [ Question ID : 1679436683

1 met oy sisters over weekend before the last and we made our vacation plans,

Ans X' 1. some
' 2 the . J
X3a 4 7 e
i 4

Q5 Choose the correct antonym of: 7 | [ ' Question 1D - 1679436681

jumbo
Ans X 1. hilarious
X2 grand _
¥ miniatuge
X 4 monstrous.

_ =

Q.6 o the folowing sembemce S i o pheiors have bees inderlingd One of them i3 indoenect. Chaoma the
INCORKECT oo gl o the i options Question ID : 1679436686

Competencies ape charscrensics it we Use 1o achieve sucoess. These charscieristics or tmits can be jnciaded shings
like kmowledge. aspents of leadenbip, self-esteeny. skilks ov relationship-building.

Ans X 1. we use to
# 2 aspects of leadership
X 3 or Etﬂjmshitmmdingi
¥ 4 can be included

Q.7 Fill in the blank with the appropriare se/phirasal verb.
: s [ Question ID : 1679436694

Wie found ourselves of food supplies after being stranded in the hills for 5 days.

Ans (1. wearing out
X 2 looking out
+ 3 running out
X 4 running down

hittps:/icdnd digialm com/iper/g01/pub/1258 touchstone/AssessmentQPHTMLMode /12580182581 258018258560526/15309711977835355/203, .. 1673
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Q.8

Ans
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Fill i tise blank with the appropriate word,

Anna ol AnPwer sinsple questions in Enghish even thowgh she had been leaming English for a vear. Questian 0 18 By

X 1. were
X 2. was
v 3 could
X4 s

Q.9

Ans

Choose the moat appeopriale mdirect speech foan oo the following seutence
Adjadi sakd 1o 5o, ~1'm oot poiag wo Manal with vou, [ ioow thece ang other people wailing 1o grab ony job and | C!LIBB!]DH ID-1 Eaa
ot Wt 1o Joge i

N1

Anjals sid T'm noe poing 10 Mansl] with you Seema. [ lmow there are oty peophe waiting o grab my job and [ doa't
wanl b lose it

v &3

Ausgali vl Sevvmn i e Wt B0l Boing 10 S lamali witls hev a3 she knew thene wene ofber people waiting 1o goab bey job
el e idisd el vt b s it

K3

Amgali said. ~1'm nof going to Maaali with you. T know there ape other people waiting o grab oy job and [ don™t want i
lose ("

> 4

Aggiall skt Seenia that 1he's oot going to Magali with her. She kiows theee s other people wailing 10 grab her job aad
she don'n wan w0 ke in”

4

Q.10

Ans

Choose the correct an of the underlined word to fill in the blank.
e PR S Question ID - 1679436682

Aunt Beena is a stipgy lady compared to my mother who is very . " W D)
v 1 liberal a ALF
X 2. protective ki )
X 3. persuasive

X 4 caring

Q.11

Ans

Choose the correct synonyim of: Question 1D - 1679436680

genuine

X 1 gentle!
#< 2 Kind
X 3 fine
v 4 real

Q.12

Ans

Choose the sentence that is correctly punctuated. Question ID - 1679436691

<1

“What a pleasant day. said Prabhu,” “Lets go on a picnic to Surajkund.”

v

“What a pleasant day!™ said Prabhu, “Let’s 2o on a picnic to Surajkund.”
> 3

*“What a pleasant day? “said Prablu, ~lets go on a picaic to Surajkond.”

X a

What a pleasant day?” said Prabhu, “lets go on a picnic to Surajkund.”

Q13

hittps:/icdnd digialm com/iper/gd1/pub/1258 touchstione/AssesementQPHTMLMode /112580182581 25801 8258560 526/1530971197TB35355/203,
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Choose the passive voice form of the given sentence.

The gardener warned the children not to pluck flowers.
Ans X 4.

The gardener warned the children not to pluck flowers.

X 2
The children warned the gardener not to pluck flowers.

v

The children were wamed by the gardener not to pluck flowers.

X 4
The gardener is warning the children not to pluck flowers.

@14 Choose the word that is correctly spelt. [ P it AT
Ans o 1. Desperate
X 2. Aknowledge
& 3 Controvertial
X 4 Immagination

&15 1n the following seatence four veords or plwses have been maderlined. One of them i imcomect. Choose the : '__r'
INCORBIECT wosd ox phease froasthe given apfions [ ~ Question ID : 1679436687
Savita's mriphboos said that hemvever haed she Will iy, she would oot be abde 1o beooms the table temain champion ol e

ollinge.

Ans X 1. said that
/< 2. be able to become
Vv o will ry
X 4 of the college

e e

Comprehension:
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Read the followmg passage and answer the questions that follow.

Life is as vast as space. but somehow we use our brain m a limited
way. Our bram has been usmg thought as its mstrument for
millions of vears. Thought created *1°. This creation has had
tremendous effect on the bram as it 1s hmited to “1". Our whole life
is lost m being a doctor. engineer or something else. and hence. we
have pigeonholed ourselves mto the roles of our professions. So
our love 1s mited to our specific role. We have discarded the
whole and lmited ourselves to the parts. The profundity of life 1s
lost.

Our mind is our thoughts and thoughts are nothmg but what we
talk to ourselves. Our mind is constantly chattermg. It 1s a kind of
muner self-talk. and it is constantly rehearsing the future. chewing
its experiences. This is because you have no one to talk to. so you
are talking to yourself. If you can peep mto your mind. you will
tmd that the mmd 15 madness m motion. Perhaps someday. an
mstrument can look mto the audio-video of our thoughts. Then it
may become clear that it is some kind of madness operatmg. But
we never look mto ourselves, for if we look, we can see the
madness of our mmnds.

The Katha Upanishad says. “We always look outward and never
look within: thus we destroy ourselves. Only the courageous
person looks within.” When you face yourmadness with courage.
then your mtelligence will search for sanity beyond the maddening
mnd.

When you look deeply within, youwill realise you are not mind.
but there is an mner space where the mind exists. The mind is like
a cloud. andyou are the sky m which the cloud is floating. Only m
that transcendence. madness of the mind will drop.

SubQuestion No : 16

Q.1

¢ According to the passage, how have human beings ‘ Guestion 1D : 1679436696

been affected by the thought of self?
An “ 1
5

People’s love is narrowed to their own selves.

X 2 People are becoming doctors and engineers.
X 3. The brain is getting smarter.

X 4 Professions are getting narrowed.

Comprehension:
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Read the followmg passage and answer the questions that follow.

Life is as vast as space. but somehow we use our brain m a limited
way. Our bram has been usmg thought as its mstrument for
millions of vears. Thought created *1°. This creation has had
tremendous effect on the bram as it 1s hmited to “1". Our whole life
is lost m being a doctor. engineer or something else. and hence. we
have pigeonholed ourselves mto the roles of our professions. So
our love 1s mited to our specific role. We have discarded the
whole and lmited ourselves to the parts. The profundity of life 1s
lost.

Our mmd 15 our thoughts and thoughts are nothmg but what we
talk to ourselves. Our mind is constantly chattermg. It 1s a kind of
muner self-talk. and it is constantly rehearsing the future. chewing
its experiences. This is because you have no one to talk to. so you
are talking to yourself. If you can peep mto your mind. you will
find that the mind is madness in motion. Perhaps someday. an
mstrument can look mto the audio-video of our thoughts. Then it
may become clear that it is some kind of madness operatmg. But
we never look mto ourselves, for if we look, we can see the
madness of our mmnds.

The Katha Upanishad says. “We always look outward and never
look within: thus we destroy ourselves. Only the courageous
person looks within.” When you face yourmadness with courage.
then your ntelligence will search for sanity beyond the maddening
mnd.

When you look deeply within, youwill realise you are not mind.
but there is an mner space where the mind exists. The mind is like
a cloud. andyou are the sky m which the cloud is floating. Only m
that transcendence. madness of the mind will drop.

SubQuestion No : 1T

Q.1 Complete the statement with the most appropriate option as per the given passage.

b R e S Question 1D - 1679436699
If the body is like the . the mind iz like the

An 1 .

" o1 sky: cloud
X 2 sky; air

X 3 cloud:; air

X 4 cloud: sky

Comprehension:
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Read the followmg passage and answer the questions that follow.

Life is as vast as space. but somehow we use our brain m a limited
way. Our bram has been usmg thought as its mstrument for
millions of vears. Thought created *1°. This creation has had
tremendous effect on the bram as it 1s hmited to “1". Our whole life
is lost m being a doctor. engineer or something else. and hence. we
have pigeonholed ourselves mto the roles of our professions. So
our love 1s mited to our specific role. We have discarded the
whole and lmited ourselves to the parts. The profundity of life 1s
lost.

Our mind is our thoughts and thoughts are nothmg but what we
talk to ourselves. Our mind is constantly chattermg. It 1s a kind of
muner self-talk. and it is constantly rehearsing the future. chewing
its experiences. This is because you have no one to talk to. so you
are talking to yourself. If you can peep mto your mind. you will
tmd that the mmd 15 madness m motion. Perhaps someday. an
mstrument can look mto the audio-video of our thoughts. Then it
may become clear that it is some kind of madness operatmg. But
we never look mto ourselves, for if we look, we can see the
madness of our mmnds.

The Katha Upanishad says. “We always look outward and never
look within: thus we destroy ourselves. Only the courageous
person looks within.” When you face yourmadness with courage.
then your mtelligence will search for sanity beyond the maddening
mnd.

When you look deeply within, youwill realise you are not mind.
but there is an mner space where the mind exists. The mind is like
a cloud. andyou are the sky m which the cloud is floating. Only m
that transcendence. madness of the mind will drop.

SubQuestion No : 18

Qa1 - =G g
g Chﬂﬂse an option to fill in the blank in the ‘ Cluestion 10 - 1679436698
following sentence.

*We always look outward and never look within ...
Only the courageous person looks within.”

In this sentence the writer suggests that a person
should be in his or her search for the real self.

An X 1 intelligent
< 2 outgoing

v 3 fearless
X 4 mad

Comprehension:
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Read the followmg passage and answer the questions that follow.

Life is as vast as space. but somehow we use our brain m a limited
way. Our bram has been usmg thought as its mstrument for
millions of vears. Thought created *1°. This creation has had
tremendous effect on the bram as it 1s hmited to “1". Our whole life
is lost m being a doctor. engineer or something else. and hence. we
have pigeonholed ourselves mto the roles of our professions. So
our love 1s mited to our specific role. We have discarded the
whole and lmited ourselves to the parts. The profundity of life 1s
lost.

Our mind is our thoughts and thoughts are nothmg but what we
talk to ourselves. Our mind is constantly chattermg. It 1s a kind of
muner self-talk. and it is constantly rehearsing the future. chewing
its experiences. This is because you have no one to talk to. so you
are talking to yourself. If you can peep mto your mind. you will
tmd that the mmd 15 madness m motion. Perhaps someday. an
mstrument can look mto the audio-video of our thoughts. Then it
may become clear that it is some kind of madness operatmg. But
we never look mto ourselves, for if we look, we can see the
madness of our mmnds.

The Katha Upanishad says. “We always look outward and never
look within: thus we destroy ourselves. Only the courageous
person looks within.” When you face yourmadness with courage.
then your mtelligence will search for sanity beyond the maddening
mnd.

When you look deeply within, youwill realise you are not mind.
but there is an mner space where the mind exists. The mind is like
a cloud. andyou are the sky m which the cloud is floating. Only m
that transcendence. madness of the mind will drop.

SubQuestion No ; 19

a s % ;
o Accmd}ng fo tin_e passage. what can bring an end ‘ Question D - 1679436700
to man’s obsession with the self?

An J 1
5
Understanding the mind to realise the innermost self.

X2

Having an audio-video of the working of the mind.
X 3 Becoming like the beautiful blue sky.
/< 4 Floating in the air all through the day.

Comprehension:
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Read the followmg passage and answer the questions that follow.

Life is as vast as space. but somehow we use our brain m a limited
way. Our bram has been usmg thought as its mstrument for
millions of vears. Thought created *1°. This creation has had
tremendous effect on the bram as it 1s hmited to “1". Our whole life
is lost m being a doctor. engineer or something else. and hence. we
have pigeonholed ourselves mto the roles of our professions. So
our love 1s mited to our specific role. We have discarded the
whole and lmited ourselves to the parts. The profundity of life 15
lost.

Our mind is our thoughts and thoughts are nothing but what we
talk to ourselves. Our mind is constantly chattermg. It 1s a kind of
muner self-talk. and it is constantly rehearsing the future. chewing
its experiences. This is because you have no one to talk to. so you
are talking to yourself. If you can peep mto your mind. you will
tmd that the mmd 15 madness m motion. Perhaps someday. an
mstrument can look mto the audio-video of our thoughts. Then it
may become clear that it is some kind of madness operatmg. But
we never look mto ourselves, for if we look, we can see the
madness of our mmnds.

The Katha Upanishad says. “We always look outward and never
look within: thus we destroy ourselves. Only the courageous
person looks within.” When you face yourmadness with courage.
then your ntelligence will search for sanity beyond the maddening
mnd.

When you look deeply within, youwill realise you are not mind.
but there is an mner space where the mind exists. The mind is like
a cloud. andyou are the sky m which the cloud is floating. Only m
that transcendence, madness of the mind will drop.

SubQuestion No ; 20
0.2 Clwoose the INCORRECT option o complete the meaning of the sentence as per the given passage.

Qrsestion 10 : 1679436697
Our mind = sbwass

An
5

& 1. planning the future
X 2 reflecting on experience
X 3. talking to itself

v ¢ looking inwards

1 General Hindi

Comprehension:

frafaf@a sy & 9ga 9@ 7T weA F e R
maﬂtgmﬁ'aﬁammmaﬁrmnﬁ RS
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¥ 3 gV &1 IO U FH I AL § O AT Fg H
g AR I T @y A4 & W@ § A FER AR
$r, gy F FERon AR FEeT dar FF g whem sEfoe
T Hia AN AR = & a7 78 =) gedew S F
T 8-

FH- guT e &Y w@m

FIFRX TF FeEle T |
T FF 3N 9ET FT gATIErE AT a9 § 9T FEr T
fF o/ TR & F F 3l ¥ FH AW FY 9§ S
& o s #| T F AT A W G AR Falt F Aoy
a1 I Fell H Fifeq @Ry fBhg P A9 F 3 Yer @
& T AR o Toll H 4T agel Whol| HIS A arelr My
# ¥ T A M- JFAHT A Folwear TG H o o
A Y, W I g Hag & o Ao, g g Haw
TR GgT Hehal I e, Tg off o~ gfoeid & e
TadT| afda Hag #1 fede @lig &, &% 7T W 8%
e F A3T ¥, W GG ST § I YA T A
se & =W HErEar & o i 3EheT #T GEar 272
ST 2@ 7 ST ¢ O HuRe a2 AER, AEdr
fosrar it uteT e off T F GEE H GF AW W
G Bl FE 364 g

& 9g FaR o g@, & af @H X

3EH GIewhIeg o U 3maT g @y =i |

3T S Toeg W@ &A1 g 8, 3o¢ faar 9fs v
& U 9o & S g

B - S8 FRER, Fafa, FwE faq & I T of
3% af gesifA & 9, N W AT F THAS FeAta,
ge- e, spohred, safad, i ik e o1, 9 o
T & FX- 9% A G A W Fg 357 ¢- I 2 vvar
ST 39 FTY A gIar A TH J|OFT & 9% F g AR

e B — =t L
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EUT EERT HIAT &1 0T 8T & gIar| $H YR ATe Joury
A 9T & Tufed 9red 2dr, ar i 3 seremer JrET ST
e & Ter BT #1 F17 F4T FHEar?

SubQuestion No : 1

O I F EER W S ad [ Question 1D - 1679436705

X R
X 2 FAATTF
3(3.3_-‘_!:{'@?1"{'
v HTEETER

Comprehension:

o sre@mer # ggat 9& 71T weAt & 3o e

g AR TR TEgA: FE AR FROT H TWE T - T
¥ 3 gC B Oy v FA o A ¥ A ey e @
e AR TfE T Wy 7@ & W ¢ A gER Ml S
$, qeuTer @ FEIOT T Heed YT FX @ waem gEfT
FT Fi iR fERs A # 87 7@ w1 gedew S
T -

FH- wure TreT S TEm

FIRIL J Serafg |||
TET FH R 9T F IAGETE JAAT TAT § FUT FeT TA §
F @ R & FH & 3T §) &7 S FH g § d
& &l s §1 B F AT a1 W G 3R Far F A
A W war Hr ot gel; fhg fraw Jod & 3w dar
8 Taha R o Fell A FE ag Wk | Hag ST arelr M
# 33 o gH M- GAAHT { Felehed! TguA H el o
SreATe Y, X e g Hqas & o sl g Hes
WIS TG Fehal AT G, g o oUc- wforerT FE FRr S
"o afFa #Aag #1 twe @liie =, 8% 777 W &=
TE H ASAT §, W TG ST § IEIAS HYAT T A
a7 i 57 Rrar & off Sl 3 fF T FT gFar 22
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slifAT g@r o7 orar § & guRs a3-a2 sAdN, e
forar 3R gt weres o ST & g # $F I\ W
g g FE 354 &l

& I8 FaRr 5= g@, @ af T X

3&H dewdee faar ua HET HJOEr @y 9w

3fie St o @ & TR ¢, 3 e oRew
& U 9reg g ST ¢

B - S\ FAER, dadta, 59 shaa & 3w @ of
3% af goifA & 9, S I AT F THAT FeAtaA,
ge- fume, spohred, safad, s ikt fawre o, 97 o
ST % FT- T A BH A W FE 35T g- ARG Alelr 3vvar
ST {9 Y A gIaT aF TH J|O-EE & 9% F g AR
TEUT Z@ART AT H g7 St 7 garl W yHR A g
F 9T & HIeT rea @, & o SEr FenRmer dET TS
fare & Jgr ST F FH F4T FLGT?

SubQuestion No ; 2

02 yor o1 FYEAR ORE - 9T F Fe T { Question ID : 1679436704

L FEH
v o HET
X 3 faer &
X« TEH &

Comprehension:

fa=fofla seamer # 9ga 9O 71T 9ot & 3] fofav|

sT AR grErY aEga: F AR FOT H TWE T - g
¥ 8 O 1 ooy v w4 I A ¥ A AT e @
e AR TfE 9T Wy 7@ & W@ ¢ A gER e HA
$1, qourer @ FEIOT R Hwed YT FW & waem sEfaT
FT F AN AR A F 8 78 w1 Jerdew S
Fel &-

FH- i foeT &y @
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FIRN Tk agrafg HIET| |

gl & 3 ST B qaiEar AT T §oaur Fer
& arr gER & & F T §) g W FH g g,
& & fea g1 ot & A @ | G AR Fait F o=
A T war Hr ot geh; g fraw doA & 3w oy 74
8 Feha 3R o Fell A FEI a& Whal| Hag = arelr ey
H 43 N gH M- SFATHT & Folehed! Tga H e ofr
SrefAe &Y, X e g Has & o sl g aw Hes
WIS TG Fehal AT A, Tg ol - SfcrerT 7 Far S
Tadl| afFd Hag #1 fewe @lfie =, 8% g7T W &=
TME A IS E, W GG ST § IHEIA HYA T A
a7 i 57 Rraar & of Sl 3T NFT FT GFar 22
T 2@r o7 Srar ¥ & gus a3-a2 sadN, e
fastar 3t giex Tores off 9T & gEE A HBE AW W
g g FE 354 g

& 9 Far o g@, ' af W

F2H dieufeg RET o 3Ed 3T9g g1y gEn |
FTT $9aY oo 9@ & T g, 3¢ faer afem fav
& U= 9reg. 8 Jan g

W - S8 FA4R, fadta, fSwes shaa & dw I of
3w aF gasfA & 99, S AN AT F T Heata,
ge- g, spohred, saifad, s ik e o, 97 o
NPT % FX- T A BH A W HE 3547 §- IG Bt 3T
ST {9 1Y A g aF TH F|O-e & 9% F g9 AR
T ZART BT FT gIOT st F el $ whR Ay g
F 9T & W9 rea g, ar i Jar el dEr uer
fare & JEr BT F F1 F4T FLar?

SubQuestion Mo : 3

" H & E‘WT & 9IS F1ET { Question |D : 1679436706

An ‘
e ¥ HTT 9UEAT & HROT
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X 2 drar € HTHT & FIoT
X 3 RrfTar & &or
X 4 TIOTSACIIAT & FHIOT
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Comprehension:

famfof@a sre@mer # 9ga & 71T 9ot & 3eax AR

g AR gIE TR FE AR FROT H TWE T - g
q 8 O 1 oo v w4 I A ¢ A T @
e AR TfE T Wy FE & W ¢ A gAR e s
$1, geurer @ FEAoT AR Haed YT F @ waem sEfaT
Fo Hi iR FERs A F 8 T8 w1 Jedew S
Fel &-

FH- T foeT &y @

FIH T gEfy arr|
gl w9 3R 9T S gEET= AT T § aur & o g
& T O & F & 3T g1 g A FH g §, dar
& wer s ¥ Bt F AT & W HA 3R FaAr F AT
a9 wai B T @R g fraw doR & 3w oy
gl oo 3R IS Tell A FEI age Wk | Ha$ S qrelr M
ﬁ%mwﬁ-mﬁﬁmqﬁﬁﬁﬁmﬁm
SISATE H, W g A @ o s, g e e
WERAS GG Hehal AT G, g o orc- wforerT wET FRr S
HadT| SafFd #Aas # twe @liig &, 8% 7T W &=
e A ASAT §, W TG ST § IS HYAT T A
ST $r 57 AEraar Fr o FiF ITNFT FT Thar £2
FHIfIT 2@ I 1T § & TuRe: 93-92 HAdR, WEdr
fastar 3t giex e ot 9T & gEE # $E I W
e g FE 350 &l

& g Fan od g@, & at @

3EH Gevhiee far ua smaa 3madr gy g

arat—r o= EE—t e S ——r & — B Prarrr Brr
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S PYAL IACE GO GAl HIGA §, 0B 1901 HINAH 1DV
& U greg g S 2

WH - 8T FAER, dadta, 5w shaa & 3o @ o
30w af g & 99, S I FHT F AT Feta,
ge- femg, spohred, sfad, s ikt feawre o, 97 o
AT ¥ FX- T § FF T R FF 3541 §- ARG G Hyar
T {9 Y A @aT af TH JO-EE & 9% 7 g AR
T Z@ART W FT g7 it F gl W FHER A gy
F 9T & e grea g, & i JEr Feremelr AT U=
4T & T TWET F FH FT FAT?

SubQuestion Mo ; 4

e ’# LG ﬁQE EF-ﬁ' w =3 313} %‘ ‘ CQuestion 1D 1679436702

T X 3w dur
X o w1 faar o @
X 4 JgT FH W F

Comprehension:

f=of@s gz #1 9gat 99 9T weAl & 3o e

T AR R aEd: FA AR FROT H TWE TF - T
¥ S8 gV &1 Tourd wyar & O adt ¢ A T e @
TIHeT HIT TG AT WY A & W@ ¢ A AR R A
$r, geure @ TN AR e YT FA & waem sEfT
Fo Fi 3N FEns A F 8 7 Fa1 Jedew S
Fel &-

FH- T foeT &y @

FIRR Tk Serafg |||
a8t & 3 smT B goimarh AT T § aur Fer ¥
F o gER & & F anfiT ¢ g JW FH = g,
& &l s ¥ B F AT aF W G 3R FaAr F oA
A W Fat H o geh; g fraw doF & 3w oy

https:/icdn4 digialm. comifiperigd1/pub/1258touchstone/AssessmentQPHTMLMode /12580182581 25801 825856D526/15308711977B35355/203. .
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g Hehd 3R o Goil H Al agol Hehdl| HaS AT arell I
H 43 N gH A~ TFATHT F Folhed! Tgaa T raer ofr
SrefATe &Y, X e g Has & o sl g Hes
THAS TG Fehel AT A, Tg o - qioRid AL FaT A
Terdl| cafFd Hag # fewe @lie =, 8% g77 W o=
TME A IS, W GG ST § 3T HYST T A
a9 57 REraer @ o Pl FEER W THaT 82
ghifeT 2@ a8 e ¢ oo 92-93 sAd9R, gEdr
fastar 3t giex Tarws off 9T & gEE H $F A W
g g FE 354 gl

& 9¢ R S 9@, /@ @ TF X

3EH divwhg T aaF 3Ea g g1y gE |

3T $eaT o §@ & e g, e foen ofonw e
& e 9reg g S 2

BH - T FRER, Fadfa, Fws shaa & a9 T of
e af qafr # €, S 3 wEE e geAfa,
7e- Rore, sEntred, SAfad, HR 3k R o, 9 @
ST % H1- T A BH A TR Hg 35aT §- ARG gelr I
AT A9 FY A AT A T WO F 9 7 Ja Ak
0T EERT EAT FT gIor st F el s yeR afy g
F U7 2 H9fed Sred g, ar o JEr el AT uEr
fae & TET HBT F FH F4T FEr?

SubQuestion No ; §

Qs g'EHT ¥ amdr & q-g”—qa-r § 3TIare, I8 fFue { Question |D : 1679436703

0K dmaet w
X 2 gy H
v o NI & T
X 4 FH Fr quUHaT =

YT A g AT T g ¥ | Question ID 1679436718

https:/icdn4 digialm. comifiperigd1/pub/1258touchstone/AssessmentQPHTMLMode /12580182581 25801 825856D526/15308711977B35355/203. .
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Ans X 1. qTeTh
v 2 gror

X g
X 4 €Y

V rRed # ¥ e w R

Cruestion 10 : 1679436714

Ans X1 arfarer

o 2 grer
X 3 gemer
X< 4 Fmer

O gl g FaT F BT gEE [

CQuestion 1D ;1679436721

Ans

v 1 d e S
X 2 #g T IS 384T
X 3 Hg W 3R &l
X« g & A R

Q9 s & e & o B s R 6% R s w s B @ o b

Cueestion |D : 1679436720

At X mEs oF ¥ #Her @)
X2 giaur # A= T AR B 7 74
v 3F giF gEiie S & & |
X 4 ST I JEAT AN T AT |

M g e 7 agaw (sfawfEes) gem: |

Crsestion 10 : 1679436719

Ans *,‘_ gﬁ_
Xz.ﬁﬁ-’lﬁ
e

X o glaar

O R § ¥ P @ ue T B |

Cuestion 1D : 1679436707

Ans xl;ﬁa
X 2wy
v Ry

hitps:/icdné digialm. com//iper/g01/pub/1258 touchstone/AssessmentQPHTMLMode1//1258018258/125801825856D526/15300711977835355/203. ..
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Kn.'ﬂﬁ

Q.12

Ans

e g & Tl &
X fawet w@fr

X 2 oy gy

v e EfY

X 4 gugfey

Question 1D : 1679436710

Q.13

Ans

el # & nE =g 9 7@ 87
v g 9T AYSER & FUFR & FATeE|
X 2 gUHE S § unfiis wgfa &g 3 o)

X o Aforar wfsar & gex w9
X 4 ZEET FEg e 7 dam

CQuestion 10 : 1679436716

Q.14

Ans

FiT ¥ 97 F THaF GFar 2
v F TgS T R

X2 gg o @ g

X3 g oft FaT T §2

X aﬁmagﬁéa’ma'l

Question D - 1679436717

Q.15

Ans

AEEE—— S

FremEay e F Hid T A g7
v | FRuRT

X 2 doy

X 3 egdeE

X wgefE

Question 1D : 1679436709

Q.16

Ans

a5 e T
X . feor
X2 mEaH
X 3 Tergor
v e ST g

Queestion 10 : 1679436715

Q.7

Ans

hittps:/icdnd digialm com/iper/gd1/pub/1258 touchstione/AssesementQPHTMLMode /112580182581 25801 8258560 526/1530971197TB35355/203,

‘goT' ereg 1 Tt &

{

Cuestion 1D : 1679436712
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v e
X 2wy
KA By
X 4 WAT

OB oy e TifeT:

Cuestion 1D 1679436708

Ans xl_ ﬁa.lg.

X2 Tk
v 9d
x:l.ﬂﬁl!n

Y 3rm F7 qHmETEh g Fe @ E? [

Question 10 - 1679436711

Ans v =
X2 fyE
X3 mrEe

X 4 T

az ‘ﬁmwﬂmﬁtﬁvwms..m;l

Question |0 : 1679436713

Ans 1. =dor
Xz o
A
v . I

secHon $1—lbﬂ'.'l.:i Related

Q1 1 watt expressed in cal/sec is equal to:

Cuestion 1D 1679436728

Ans  of 1 0.239
X 2 860.42
X 3 0.042
X 4 14.34

Q.2 t°Cis equivalent fo { = 275.1%) kelvin, that is TH. Then in Fahrenhedt scale TH will btﬂi:l.l.i.‘l.‘l]ﬂ'l!1n:{

Cuestion 1D - 1679436729

K2 (e +45967)
V2 1.8(t +290.93)
5 az
X 2fedT)

hittps:/icdnd digialm com/iper/gd1/pub/1258 touchstione/AssesementQPHTMLMode /112580182581 25801 8258560 526/1530971197TB35355/203,
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X4 1.8(t+273)
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Q.3 oo mahematical reanment the expression of & fumetion of velosity, U, appean 5 6™ The
Ans X 1. LZ_T—Z

X2 MLT™?

v 272

X4 MI2T2

dimention of b i
CQuestion 1D : 1679436724

Q.4

=ma

i -

-B =

«13 4]

anpiammen of U partichs Saring thin piiod & the begth unit dhosen Ffor the sbove grigl.
<1128

v 2 104

< 3 08

X 4 144

Question 10 : 1679436733

The velecity ve. time graph, PO of a particls i shown in the fgeoe for the time istenval [ = 06 to = 20 s, fnd the

®

Q.5

ncceleration. 11 Is foursd thas the plate breaks when the scosieration ds B ms ", Find the mass
(Eake g [Oms™ )

Ans O 1. 120
X290
v 3 30
X 4 60

A plass place can Just support o wedght of 54 k. The plabe with & body on i is raised with gradually increaig

of e bl | | Question 1D : 1679436738

p

2% kgm?s—2A 1 35 equivalent to:
Ans x 1 Henry
X 2. Ampere

X 3. Watt
v 4 volt

{ Cuestion 1D : 1679436725

Q.7 7o velocity of a parsice im ms~* i (21— 3+ 4£). Wit ix the component of this velocity along
vecsor (14 ) + k)7

Ans

s dmection of the
[ Cuestion 1D 1679436735

Q.8

hittps:/icdnd digialm com/iper/gd1/pub/1258 touchstione/AssesementQPHTMLMode /112580182581 25801 8258560 526/1530971197TB35355/203,

[ Cuestion 10 : 1679436740
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&=l

1 | L}
my -

Witk referends w e fgure dhoum, the Forge requingd to pull oul the Bock havesg mass *my ' with an scodleraton "o
(eoedlicient of friction beraven te nurfsoe conoemed = u is™

Avs o1 2my + my) ug - mya
X2 @2mg +my)ug+(m +mya
X3 (my + my) ug+mya
X4 (2m, + my) ug+m,a

2.9 Ioanexpermment with a mirror and scale gabvamometer, the scale used has it smalbest divivion equal to Imm. for a
curvent the diress s peverse readings wers regectivedy 144 cm and 145 em, the readisg sbould be peconded 5 Question 10 - 1679436726

Ans o 1 14.5cm
X2 1445cm
X3 144cm

X4 (144X 145): em

Q.10 A pasticle moves along a surved padh. givm by ¥ = @57 and the ¥ componnt of it velosity v a constint egail 8o "
I3« acteleration iv oqual

e A 4 --@es%'iﬂfffﬁmm
Ans of 1 2qc? 4
X2 ge? ; _ N
” h N
X3 Eacz

X 4 4qc?

Q.11 A mn rows 5 certain distance direcly acrow 3 iver end dowsnireat i time @ seesd b sce respectivedy, 1fihe man
can row i kil wtes o e e of 10 ms " mnd the rives vy ot the Fabe o 4 ma ™, Find the ratio a2 B,

x>\

Cuestion 10 : 1679436736

Ans

vz |7
Xa 2

X %\{3

@12 (farad x ohm) is equivalent to: Question ID - 1679436723

Ans X 1. gec~?
W 2 sec
X 3 gec?

Q13 Awﬂe&mquuummemunaMﬂMntm:qummmma@um
pad oo traweds vertically up with & velociTy 100m's. What is the velociy of the other frapmem ; 1679436
(i magnimde mxd direction) af this imtant? { take g = 10m/s" ) Cuestion 1D :1 739

Ans X 1. 20 m/s upward

hittps:/icdnd digialm.com/iper/g01/pub/ 1258 touchstone/AssessmentQPHTMLMode /12580182581 258018258560 526/153097T11977835355/203, .. 3573
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X 2. 40 m/s upward

v © 40 m/s downward
X 4 20 m/s downward

QA4 Abodyof mes of 10kg s placed om a emoots inclined plane. Bt s supporied separmely by o force acting borizontally,
mmhﬁammmmﬁw.ﬂhmmhhmnﬁg and Ny respectively, then
(= 1om's")

Ans X1 N;N, = 5 X 102 newton?
X 2 N;N, = 2 X 10* newton?
v 3 N;N, = 10* newton®

/< 4 N,;N, = 4 X 10® newton?

|

Cuestion 1D - 1679436741

&15 Two inertial frames of reference defined by space s thme compedinanes [z v 28] ; (17 725 ') are such that the
primed syviens moves with a unifoem velocicy with respect 1o the mprimed sysiem. The velocity of a body messured by
the two syshoms s & aned " nespectively, Given below are T sets of equation, linking the 1, ). components of o
mndu’ (v iy divecied slong ¥, 17 - axes)

[ T T T N
fgh b=y = =, W -y
L e T
(W) 0y =y 0 W, W

Choone the comest set of equations.

Ans 1 (1)
X2 (s)
Vi@
X 4 (p)

Q.16 The dispiacement { & ) vx. time (¢ ) of & particle foBows the condition:

xF = ptt+ gt 4 i
Where p, ¢ and r are constanis. It kv found that the accelertsen of the panticle varies =1 3" | then 21 is egmal w0

Ans x; =2
X2 -4
v -3
X 41

[

Cueestion 1D - 1679436730

[

Cruestion 10 - 1679436731

Q17 The dimension of Planck’s constant is same as that of:
Ans (1. Rotational kinetic energy
« 2 Angular momentum

X 2 Linear momentum

X 4 Angular velocity

|

CQuestion 10 - 1679436722

Q.18 o= fix #faw & 0" =0 o WRE O A v g w10 m & gir o e 5 m & mm
Tk avet &t St # o wr w RE A A Rt g e b

Ane o110 cot15°®
X2 20 cot15°
X320

X 41043

|

Ceestion 1D : 1679436737

Q.19

hittps:/icdnd digialm com/iper/gd1/pub/1258 touchstione/AssesementQPHTMLMode /112580182581 25801 8258560 526/1530971197TB35355/203,

Question 10 : 1679436727

|
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The refmctive index of glasy with respect to air was being determined using the paper. recengular glass slab and pin L J
roethioed by appldving e Formula

H=ﬁ.mwwmmmm Fer a particular reading the data were b, = Gom,

Pgtass = 4 £, These were measured by a scale whose umallest division was 1 mm. Find the maximum possible

percerags jroportional sror fof e sbove EenREanen!

Ans X1 0,17
X< 2 283
X3 083
v 417

Q_zﬂ. A paricle moves in e dimension such that its posfion Vi, ene aquatioss (3, Y. 7 in metres and [ i seconds) are: [

Cruestion 10 1 1679436734

Kmefapdd ymil =l 2= 2ninm
Fimd the exprevsion of the acoelerstion vecior ai [ = 1 sec.

e X (2i—j+ ch) ms™2
X 2 4(i—9)) ms™2
X2 (2i+3j+k)ms™
v 4 2(i+7) ms?

Section - Subject Related 4 =50 o o

Q_'I Dmﬂ'm.u:l‘h:munmlnl'n:m.lﬂlmmnmemmMmmmmwnCJL_n .._. L | :__ = 2
perpendicalar o the rod. n W - Cuestion 1D - 1679436753

MK ime

V2 —Mi2
12

X3 Im12
6

Xs—M2.
24 f "
_— — e

Q.2 Two bodies move ander thefrmunml nction and reaction ondy. No extemal force ks acting on the sysiem,
Based on Tl 8bove exansine the sinfements given belaw: Cuestion 1D - 1679436751
() The: comtre of s OF the syviem moves with an increasing velocity.
{q) The centre of mass of the yystens moves with a decreasing velocity,
{rh Thee centre of mass noves with a uniform velocity.
{3) It {5 possibile to detect o frame of reference in which the centre of mass fs i rest,

Ans (1. Only (r) is true
X 2 Only (q) is true
« 2 Both (r) and (s) are true
#< 4. Only (p) is true

Q_s A dice o maas 'm”, which b o e "a’ can motase frowhy atout & horioostal axis through 0. The distase of O frosn the
it of B doe i r{r < . 7 the dice is rolewsed i this postion it acquires an atgulle sclamation sniding out of the masﬁnn ID -1&%?55
Vorqie due 1o The Wiigt of the dice. Find the value of ' for which this angmlar scosleration is ssiximmes =

: > 1

An

X 2

=le e

hittps:/icdnd digialm.com/iper/g01/pub/1258 touchstone/AssessmentQPHTMLMode /12580182581 258018258560526/15309711977835355/203, ., 3773
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a
Xa.z—ﬁ

a
Jt’f.ﬁ
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Q.4 A partics of mass 10 gm moves mader the mflsence of a force fleld.
F = 2(zintl + comt]) in newton®s. 1 the panticle s inkelally m rest o2 the origin of co-ordisates, then the work on the Cuestion 1D 1679436745
particles uplo T = RIRC is?

Ans 3¢ 1. 1000 joules
X 2. 1200 joules
« 5 800 joules
/< 4 1600 joules

the plaifioem, his rotatiomal spesd i | rev per wec, mherens when he drvwn them down sloag his hody, biv mistional
spead Emcreases 1o 3 pev per s The ratso of hiv moment af inenia in the wa casen il

(.5 A zymnet stands on a freely rotacing platform holding heavy welghts i his hasds. With his srms stretched panlle] o
[ Cluestion 10 1 1679436756

Ans X 1.9: 1
Kz.ﬁu
v:3:1

Q6 Sn\np-ﬁ:lnuﬁqndmnphﬁduhquhpinn{"q:&mmf.uﬂhmhmé 4 o
be ot a divtance n OA from O, e centre of the octagon, where A is Se moccupied angular point. Then ‘o° is equal 103 | . Question 1D - 1679436752
Ans “ 1 r' L —— aF
7 oF .
1
X2=
8
1
K-
6
" 1
p
14 _
QL7 Twoblocksafmams s my, sl g cocsiecial 1o each offier by o ssuless inexensibile string legth [ and S are
placed along 5 desmeler af's s mile. There i 0o friction befween m; and e varface of the table whereas the friction Cuestion 1D - 1679436743

berween m, sl the wale of the talble b m. The mible fi rolarng with i aegulse velogity & abot 2 vernicsl mudky

pasaing Swough the centee of fhe fem table. The masses ey and my are hying o dfances 1y and 7y mespectively from
the cemre of the fen-fable. [f The masses mre ohserved to be at rest with nespect 10 an observer on the urm table.
Caloulate the frictional force oo, .

A o 1 (myr, — M) w3
X2 m(n — n)w
X3my(n— nw?
X4 (myry + myn)w?

Q.8 A partscle of mass 10 gm on 8 smooth horizontal tbie bs Exstened to one end of a fine string which pavses through a
wnadl bobe i the table, I supports af ibs other end & particle of mass 20gm. Find the velociny with wisich the partiche oa mﬂﬂiﬂn ID :15?9436?42
the table be progected borirontadly so ms to descrite o circbe of radius Sam. (take g = 10m's”

Ans X1 1.5m/fs
v 2 1m/s
X3 0.5m/s
X4 1.25m/s

hittps:/icdnd digialm com/iper/gd1/pub/1258 touchstione/AssesementQPHTMLMode /112580182581 25801 8258560 526/1530971197TB35355/203,
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Q_g A spherical sl (Le. hollow splera) is made i a wioul sphare of radiug ' R° such thae B bl passes through The coatre

uf the crigimal weel vpisee mmﬂ&m-ﬁﬁt'ﬁh'ﬂ"lhwmh fatie of attrsction exnted by thi
partly Bellow igpliere on & particle ol mass “w" which (ke o I'ﬁm 1" front the centre of the stes] apheng oo the

Cruestion 10 - 1679436761

straight line joining the centres of the sphere and the hollow ks 22 [1——} Then y Is equad to-

X< (1+£)

X
-8
x4 (1+£)

Q.10 A ball is projected vertically upwards from a point A fo neach ity greatest height B, [t again retama o the point B, In
course of the above journey is pacses throogh tao points P and § taice (G i above Fh. Now, which among the
Eollowing optican i maeT

Cueestion 1D - 1679436758

Ans x 1.

Time of rise from P to Q is greater than Time of fall fom Q to P

Xz

(Time of rise from P 1o Q) plas | Tinse of fall from O 1o P) i equal 10 Half of (e 1otal time of fight.

¥ &1
Time of rise from P to Q is equal to the Time of fall from Q to P
X 4
'I'nnenfnseﬁomPtuleessthanT:menffa]]fmetoB

H_

Q.11 15 bocket wesghing 1kg Is bowered m & constant acceleration 2.5m/'s” Htm:mmuﬁnﬂﬂhl
distance of &m, the work done by the string will be [ take g = 10m/a% ),

CQuestion |0 : 1679436747

Ans 160

X1.T]

= o=

Q.12 .ﬁwdm-mmummmmm nctice of & driving farce. In the

procss o o T IY B B 0 == 4. g } within & dastance x aed e sngine develops a comslant
power ot . o all the quantities ano in 51 unds, the vaboe of P in watt i equal to?

Crsestion 10 : 1679436748

Ans X125
V22
X34
X4 3

Somte i ncting on the vywam. They execule unifoms circules mothon about their common centre of mis, the divance

n.'la Two panticles of psasses 2 m end 3 m move mnder the iflnence of thetr muinad action and reaction cely, no exiermal
berween thims being *&°. If 2w otal angulas momentas of the vistem is L. San thes segular velositin se

Cuestion 1D - 1679436757

s & i
6 mR?
L
3mR?
L
6 mR?

~ 2

X3

hittps:/icdnd digialm com/iper/gd1/pub/1258 touchstione/AssesementQPHTMLMode /112580182581 25801 8258560 526/1530971197TB35355/203,
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L
p o
2mR?

the Everss squane varistion?

Ans 3 1 Only First law
/< 2. Only Third law
# 3 First and Third law
« ¢ Only Second law

Q.14 Vhich among the Kepler's laws of plametary motion would still remain valid bad the gravitational force not followed
[ Creestion 1D : 1679436760

Q.15 Which among the following asare a no-work force(s)? Question 1D - 1679436744
esion A

(p) Force experienced by a charged particle moving in a uniform magnetic field.
(q) Normal reaction when a man is walking on a smooth road
(r) Tension in the string of a simple pendulum
(5} Viscous drag on a body moving through a fluid medium
Ans X 1. Only (p) and (1)
X 2 Only (q)
V'3 (p). (@) and (1)

/< 4 Only (s)

o o

Question 1D : 1679436754

e 45" mm‘-‘tﬂm the Exear scceleration of A 4s 1 ms™ dean the y=axis. anmmﬂﬂ-ml

Q_'IB A rod AR of length 6 m alides in the Tysplane with its e A oo the y-axis which & vermicsl When the rod madoes s
thix instret in Fadians ssc 7

"V Z (D) manictockvise sense-
( \f)} in clockwise sense

3

& {
X { (1——)} in anticlockwise sense
X4

-25(1_:-— %] in clockwise sense

A7 A chord in driwm Brofm oo sl of e verical Sameser 1 sy point of a vertical sirche. The inclination of the chord b
the weead B o %, Thie thime takien Uy 0 prastiche 1o slidi divwsa e chond iy Cuestion 1D - 1679438759

Ans X 1. Proportional to cota
& 2 Proportional to cos
+ 5 Independent of @

& 4 Proportional to y/cota

the comect altermative from the following:

Q.18 .Jl.pnbtleol!'m.n:m s moving under the influence of § consecasive force Beld given by F = <kr'#, Then, pick up
Cuestion 10 : 1679436746

Ans 2
X1 lm(ﬂ) + 2 kr® =a constant
2 dt 5

v -m(dt) +i—kr“ = a constant

2
X3 %m(g) +§.Jc*.|"2 = a constant

hittps:/icdnd digialm.com/iper/g01/pub/1258 touchstone/AssessmentQPHTMLMode /12580182581 258018258560526/153097T11977835355/203, ., 4073
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2
X4 ém(j—:) = a constant
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Q.19 Aball strikies another ball, bavimg four tmes s tmass, whish is moving with coe-third of its velogity in the same
disection. 1f the impact rediaces the first a2l 1o vest, the coefliciem of restitution i Cueestion 1D - 1679436749

Ans 7
Rt

v 8

3

;=

4

Xs.i

8

K4.E

8

in its path, wirich gets compressed by 2m in the process, What b the spring constant is newton per meter?

.20 A bdock of mass Zkg diding on & smooth horizontal surface with o tifonm speed Tm 5" is brought bo rest by & spring
L Question 1D : 1679436750

A ]
X242

1

KS.E

X+ V3 >

2 VLN

Section | Subject Related

Cuestion 10 1679436766

Q1 Theelwsic limit of a typical rock is * £ in mewtonsmetre”, the Balk Modubion and st desity of the rock are B and
7 respectively in newtonmete asd kpm’. Estimate the maximum beight u{_q.mhu'm.

Ans E
vi—
Pg |

.2 Theefficiency of a reversible engine i 20% on reducing the temperature of the sink by 20 *C, the efficiency increases
by 29%. Find the criginal temperature of the source i degres centigrade. CQuestion 1D - 1679436776

Ans O 1147
X277
v 127
X 4107

lever whone arms mtio i 4.2 27, [f's foece F newion's is spplied on the hasdle of the kever, wiha is the foece developed
try the Lige pision in Bewlons?

)3 T radhi of the wnall aod larps piston of 8 hydrwalics prews are réspectively 6 cm and 72 om. It b waoskd ey & hard
[ Question 10 - 1679436765

Ans X1 144 F

hittps:/icdnd digialm com/iper/gd1/pub/1258 touchstione/AssesementQPHTMLMode /112580182581 25801 8258560 526/1530971197TB35355/203,
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V2 972F
X 3B81F

2pem™ s beaiking o4t dhwough the hole af a conatant rale of 1 p'min. What will be the presasre of the jace at the Cuestion 10 - 1679436764

.4 There i a sinall hale on one wde of a carson (25 am = 10 ¢ < 4 cm) ot a poim 1 cim balow ta Top, Jmntn{d-usll';[
bottom of the carion % min after the fuice itarted leaking throagh the hale? (g = 10 ms™ )

Ans X 1. 260 N/m?
X 2 390 N/m?
v 2 780 N/m?
X 4 650 N/m?

Ceestion 1D : 1679436767

Q.5 Two spherical drops of water of the same size sttain tenmina] velocities of magnitude 0.1 o~ . In the process of falling
they coalesce o form a singhe drop. Whas will be the new tenminal velociny™

Ans 1
X1 —2%ms?
T e

1 .5
K222 /3 =1
20 ms

X3 %22-’3 ms™* 4

v %223‘3 ms™* 7B

:. . b
Q.6 A bynamic yywem undergoes o cemige from a state *1° fo fime *2' dencribed by the co-codinates (F F; Ty} and

{F. VT, ) respectively, where the symboly have their nsal meanings. The equation of state of the syviem is known Cuestion 1D : 1679436773
mmﬂnbnimfmrmmnhi:hnn{ﬂrﬂhwhgmhm

{p) e amoum of hemt added o the system.
() the change in the imernal snergy of dhe Tywem
[14] Immlm:mﬁ,&%

w (P
X2 (s
X
X 4 (q

https:iicdnd. digiaim.comifiper/g 1/pub/1 258 touchstone/AssessmentQPHTMLMode 1/1258018258/1 25801 B258560526/1 530971197783,

Q_? ‘When the tempersture of air increases from 30 °C o ¢ 2, e velocity of sowid in o {erumed to bebaroe Hke 3 perfect gas)
ocrtee by LS () Pl (ovre s ks sk Question 1D : 1679436781

Ans X 1. 45
X235
X3 48
v 4 40

Q.8 Cakculate e force requined Yo separmie two plaw plates of svea 0102 s metee with & fils of wates 830 10°" matre thick.
between them. Surface vension of waser = .07 M, Question 1D : 1679436768

Ans (1. 28N
v 35N
X3 40N
X4 30N
https:ifedn4. digialm. com/fper/gld1/pub/ 1258 touchstone/AssessmentQPHTMLMade /12580182581 25801 82585605261 530871197 T7835355/203. .
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ey is 22 10°¥ 1. Obtain the equation of metion of the particle if ity epoch is 307, b is given that o the initial
instame, i position bs increasing withy time. Express poadtion () in metres s time (1) in sec.

Q_g A particle of mass 10 g b5 executi=g 5. of smplinde 2 o Wisen e parmiche passes threoesh s mean posicion, it
[ CQuestion 10 - 1679436779

Ans 4 T
X 1 x = (0.01)sin (m: + E)

V2 x = (0.02)sin (10t +%)
X3 x = (0.01)sin (20t + %)

X4 x = (0.02)sin (20t +)

Q.10 i i " e
Which among the following processes can never be reversible? [ T —

Ans X 1. Electrolysis
v 2 Free expansion
X 3 Extension of a spring under a load
X 4. Isothermal compression

=

Q_11 hmﬂkﬁth':Jwﬂhul;wHll-din-'I-mhluwﬂlmhb:updmﬂm‘lr'-"hmilﬁm
1o e bt throourgh & dlistmsece ' g et go, S find the: froquency of the oucillation of the piston if the process lakes i msﬁin:-mmrn
place isoennally, The volume af the cylinder i F, i droi-tectional aies @, Aviime that s b very amall, oo e e &
terms imolving =7 amd higher powen cam be neglected. The origpimal pressune applied by the piston is *2°, -

Ans

X1 2PV
2n | ma

X 2gtamieit

2n m.i_‘

p R ., e

Q112 Fend the force of sstraction between a thin uniform rod of length 20 cm on s pass 1 o bocated omtside the 1od on the
sane line as the rod and &t @ distance 10 cen froen an esd. The mana of the rod s 2 kg QJESHOHIDHEM?EB

Ans ZG
v ?XIE}ZN

3G
KE- TXIBZN

G
KE- E)‘(IHZN

G
x4-§)<1ﬂ2”

] 1
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Q.13 mw“.mmdnsmluj—i5m{¥}+ﬂdﬂ {%}i.ubﬂ!':'unm-d‘l'-m.{ Cuestion 1D - 1679436777 I
Find ity amphitods.

Ans T
Kt l?msﬁcm
X2 85cem
¥ 3 13cm
X4 17cem

Q.14 A panicle of muss ‘m” b subject 50 rwo forees, F, = —mar’ 1) £, = —resy in two erenaslly perpesdicalar droctions.
[ Cuestion |D ;1679436778

I by the smatial comdition: x -%-H-HHH fiorces mted individually, cacl woeld have led w SHM, of wsgml
mmplitades. (The symbols have thew usual meanings). What woukd be ragectony of the resultant motion of the partiche™

Ans X 1. Parabola
X 2 Circle
« 5 Ellipse
X 4 Hyperbola

Q.15 Tha ratio of specific heals a8 comtan! presdae and comtan vobane of o distomsc gav in ¥y andd St for 8 mono atomic S '_ =
iy Then = ¥ b QLIESHQHID:'IEWU"" h - Lo

ol R0
X2 24:25 %/
V3 21:25 Q@
X4 4:5

Vo= 2V Py = 2R Obuain Ty Ty i termm of Ty (ymsbols have thelr usial memtngs) o Cuestion 1D 1679436770

% M o
Q.16 A termodymamic process undergane by 8 perfect gas bs depicied ia the P-¥ disgemm s £ MV lrnﬂtﬁf&nr =

p

Ans o1 3T, .50
X 21,215
X 3 -:ZTLHTE.

v 4 4T, 2T,
—

QA7 Ao g m i presare mad af 37 *C s ept confined in a vesael of volume 1 m® . The effective deameter off
EEOD

atmosplens
mit!.hl.'.mﬁlmﬁﬂ:ﬂ_m{mh Cuestion 1D - 1679436775
{1 maoen pressure = 10° Mjm?, ky 2 3 x 107K

ad 10°¢

QA8 The polnr equmion of the cabit of 5 pasticle moving under a cenieal force s given by r = e~ | The force h:{

hittps:/icdnd digialm.com/iper/g01/pub/1258touchstone/AssessmentQPHTMLMode /12580182581 258018258560 526/153097T11977835355/203, ., 4473
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Ans X1 attractive and varies as ¥~ l

Cuestion 1D - 1679436762

I

& 2 repulsive and varies as r*

3

& 3 repulsive and varies as ™

v 4 attractive and varies as 73

https:iicdnd. digiaim.comifiper/g 1/pub/1 258 touchstone/AssessmentQPHTMLMode 1/1258018258/1 25801 B258560526/1 530971197783,

2,19 Thebase of n sieel sauceps has o dizemeter of 24 am af 20 *C. 'What will be the increase i mea of the base of the
smoepes when 8 i filled with boiling wiser? It is given That coefBicient of bistar expambon of sleel = 1.2 % 107" *C%,

CQuestion |0 : 1679436769

Ans X 1. 123 x 8mx 107 cm?
v'2 122 x 16mx 1075 cm?
X3 123x 8ux107° cm?
X 4123 x 16m x 107° cm?

that the reutstive force it 6 N comaiponding o an instantaneous valogity 10 ms ™ . 1 the syviem is now subject 1o a

Q.20 A body of mass 0.2 kg Is suspended from a spring of force constest 1 Nm~* . A damping foece ncts on the wystem such
periodiz forge. F = 10coat , then what would be the phase difference between the forved oacillation and the orignal

Ceestion 1D : 1679436780

witeaticeT
Ans

(‘. tﬂﬂ_lé
N 2 @n?
X 3 tan™?

X 4 tan~?

POl = W W WS i

Section ' Subject Relateg

1 A2stkgmim? is equivalent to: |

Cruestion 10 : 1679436786

Ans X 1 ohm
X 2 mho
X 3 (farad)™?
v 4 farad

nrz As open cariaps §s anvelling &l 20 o A boy itandisg on the camiaps Seo & ball vartically ugrand with a velocity
10 i The dimection of msatson of the carisge i dloag the & — o, asd the vertical desecton is along the ¥ —axis. The

B of el ched with & v obacrver iy defined by (x, ¥, 1) o st with the camage b (373,07,

Cueestion 1D - 16794367390

‘Where the symbols have thelr nsml Wroae the displ el Vi Time equatioens comecting (% ¥} {x". ')
with (£,¢). Take g = 10mv

£ g 20t,y = 1u:—5t22
x' =0,y = 10t' — 5t'
x=0,y=10t

x' =0y =10t

x = 20t,y =10t

¥ =0y"=10¢

G

X< 3

hittps:/icdnd digialm com/iper/gd1/pub/1258 touchstione/AssesementQPHTMLMode /112580182581 25801 8258560 526/1530971197TB35355/203,
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x =0,y =10t —5¢?
4.
2
= 20t,y’' = 10t' — 5¢’

@3 | KWh expressed in eV is:

Ans X 1.2.247 x 1073
<21124x%10%
v 3 2247 % 10?5
K4 1124% 10°

Question 10 : 1679436787

smooth plase inchided to the wall at 45°. 1f *o’ is the Ecl=ation of the rod to the horizon, then tan o is equal wa:

Q.4  Aheavy uniform red is in equilibriuns with oo and resting agains! a smooth vertical wall, asd the other syainst a
[ Question 1D : 1679436800

1
K=
3
1
X2 =
&
i
Ka=
& 4 =
i i ;
2 v, 4.
- S
1.5 s a0 experinues for the desermination of focal ength of 8 cosves leas wning 1t — ¥ mechod, St in spplying e = _
Eumni+E-f.mmmmmﬂmmwﬂhmuﬂum¢f&mh o - ’ Question 1D 1 1679436788

[phComesponding o each cbsenation ™ wns caloulated numerically and their averape was taken.

() Using the observed values of u and v |grl.|imd’- e uumnmﬂmﬂmnt‘wﬂ'h&m
o the two 2nes, and thas 7 was ealenlabed.

[:'|L-‘nquM\HIul.nu;nphurnn-w-m-pqu_rluuk:ﬁuﬁumu—nﬂw ﬂ.-nq-pmnn
the graph

sh At completing the procen of drvwiag wve v Eeph & in case (7], the graph was made % intervec! with th line,
o= ¥, Tha peried el inlersection i =y -Emu&hfhm

- .
v 2@
X3 @
X4 (p)

powition of e particle i its path [co-ordisates are inmetres). Find the linear velocity of the particle inms!,

Q.6 A panicle is execming uniform angaber motion with e eguler velogity @ = (21 =+ 5k) i sec? (0,2, 3 lsa
Cuestion 1D : 1679436795

Ans X1 —121+ 47— 9k
v 2 —13i—11j+3k
X2 —11i+13j— 4k
X 4 121+ 10j— 3k

1.7 A semmer is going doe East with a velocity 19 ma~ , and wind is blowing from orth. The sencks from the chimney
pims 54 West of South. Firud the naagaizade of the vebociny of wind. Clsestion 1D - 1679436794

Ans X1 30y3ms™?
X2 10-.!"'
3
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X3 30ms?
v 4 10/3ms?

(.8 P Care tmo poinm, vich thae they are sespectively £ i and |2 m sbove the grouss Jevel which i horizoatil. Pg = 5 m.
" Wit i the missmum vebocity with which a pertiche must be projecisd from e horizontal plane as S 5 pases Ceestion 1D - 1679436796
therisengh Pl 3, g = B0z i

s XK1 410 ms™
X 2 55 ms?
K3 4/Sms?
v ¢ 5/10ms™

Q.9  Crven below are four statements related to umiformly accelerated motion,

. y e } . Cuestion 10 : 1679436793
() The velocity ve. time graph is always a straight lme passing throwsgh the origm

(g} The square of the velocity has a linear relation with the displacensent.

() Thee vedocity has a lnear relstioa with the square of the displacement.

() The displacement durimg o period of time 1 the ssithmetic mean between the indiial and final velocities.
Whiich amemg the above stalemenls) i'ane true?

Ans K 1. only (r)
Xz (@and () S
v @and(s) Qe
X4 (p)and (@ VLY

A ..1 I! -- i
.10 Civen befow are four set of mesbers which are popotional i the ms i Mwwmwm‘ g
apet % g o

4 Question 10 - 1679436798
piae
[N
e
EER AT

Inwhich case equiliteium in mot possible?

Ans X (r)
vz (s
X 3 (q
X

Q.11
ohm S Question 10 - 1679436784
henry

Ans «1 S..1
X2 g2
X3 g2
X4s

Q.12 The valug of " 3 being obtained wiang a mmwwmww&.r-hﬁ

' iy memsured wiing o metre seale havisg smallest division | mem, and 77 b measured using a stop watch whose
semmlledt division is 0000 sec. For o parmiculsr nwssurement [= | m ed 7= I see, obained by way of mesusring the
ting for 10 oucillaticen ne 20 vec. What b the mmaximum possible percestage emor?

Ans (1. 0.20
X 2022
v 011

< 4 0.01
https:ifedn4. digialm.com/fperigd1/pub/ 1258 touchstone/AssessmentQPHTMLMade /112580182581 25801 8258560526/ 53087 11977835355/203... 4773
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ety with emdform smpalas velesizy ‘w’ im 3 circle of radius e,

N o= N,e™, F = mw’r

(symbods have their usisd meanings)

A in the first equation has the same dinension as that of what on the right kand side of the second equation?

Ans #1 w
X2m
X3 w2
Xar

Q.13 Given below ia the eqantion of mdicactive decry and the expression for centrifugad force on o partiche of mass *m*
[ Crueestion 10 : 1679436785

Q.14 A particle moving in a straight line follows the equation:
v?=4x—x?
‘What is the range of motion?

Ans X1ix=4
X2x<0
vi0<sx<4
Ni0<x<4

Question 10 1679436791

Q.15 A point moves uniformly along & straight line. Iy sgishar velocity about asy point ot a dittance 't Eom if varies ax

Ans x 1.
X 2

Question ID : 1679436797

w

v &1

K4.r

Q.16 A fexoble ey chain of length 10 m, I meving over 2 smooth fixed pulley. The fuo mequal portions of the chain are [

Lle Y=

L]

hangisg vertically. The smtant when the midde point of the chain i o @ distance 3m below the pulley. The sccebertion
with widsh # i moving e IJ-II:-m.l"l

Ceestion 1D - 1679436799

e XKt 2mid
X il
A BV
v 6 mis?

.17 A panicle stants from rest and socelenfes, where its accelerasion Vi, time equation ix:
f<p-a, [ Question 10 : 1679436792

“mpﬂq“mw-?mmﬂm“mwﬂmﬂ“IM'IIIM] reaches ity maxinim
webosisy.

Ans

X1

|"=,,, R

v

28]

3q
3

X3 P

Zqz

3p3
e
~ pye

Q.18 A partiche of mass 10 g moves with n velocity 10.m's along o straght line and colliden with amother particle off mans 20 2
which is moving with a velosity § m's akoeg the same ke, I after collision, the firs pactiche is brosight 1o re, the i -
i S et Question 1D : 1679436801
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Ans X1 25m/s
X2 5mfs
X3 4m/s
v 4 10 s

distance from the hill. A wind with & speed of 4% i/l s blowing in the directson of motion of train. Find the

kmwﬂm“m:mquwﬂmumrnwwnrwln-r-nsumm

Q.19 Amnwm&hglmmrﬂuﬂtlpuddﬁkm'h It sounds a whistle of fregaency 470 He when it is ai
[ Cuestion |0 : 1679436782

Ans  of 1. 507.5Hz
X 2 585Hz
X 3 505Hz
X 4 580.5Hz

The densities of the materiakh of the wires are in the rtio 1 : 9. 1 the benvioen in: the wire are in the ratio 4 - 1, then find

the Ereqgamcy of beats produced if the note of the bovwer pisch it 240 He. Question 1D ;1679436783

I:LED Two wires are fiwed on o sonometer. The length of the wites are in e matio 45 : 2%, their diameters are in the ratio - 1. [

Ans X1 12 Hz
X 2 15Hz
v 3 10Hz
X< 4 5Hz

Section | Subject Related A W -

Qi .l.!bghﬂdu&dwlmﬂﬁhmmlﬂmhkhmﬂxk}olkmnkpoﬂ..;)f " g
1he stack i 500 ms ", What will be its velocity imma? ummpmmmm-w Ceestion 1D - 1679436808
resistance offired by the stack to the bullet i 4 > 10°N, 4

Ans X 1. 500
v 2 300
X< 3200
4. 400 ¢

Q.2 e differemtial mlm%_fg -fh::llhwmmwmimummmoli i
Ans O 102

vzT-2

X3 [T

X4 [T-2

Q.3 A ball dnectly wirikes amother Dall nr rest and b itvell reduced no pest by the ismpact. 16 iwo-thind of its Exitial kinetic [

Cuestion 10 : 1679436815

energy is Jost due 8o collision. find the coefficient of restinmlion.

Cuestion 10 1679436809

Ans

x4

RE WIN Wk e

Q4 | ]
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Finsd the meenemt of insztia of an assulor ¢ylinder of mass ‘m* and having ioner and outer madii "y "and *r; °
respectively about the axis of e cylinder

Cuestion 1D : 1679436812

I

X ?("’124‘7'32)

X2 (1 +n° +nn)
m

v E‘(Tzz""rzz)

KXo =(n?+n?+nn)

Q.5

Ans

.'l.bod:fhkwtml.rwg]:'-dbodﬂmf[mﬂhﬂd&i:ﬁmhﬂmlhhd}-ﬂmlphl-i]ndﬂiljm
provented fiom aliding down by the spplication of a force, Py, up the plane. 1t is sl just made te move v the placs by
the spplication of & force Py uep the plane. I8 i foesed that Py Fy = 2:1. The isclination of the plane 1 the b 14l i

Question 10 : 1679436802

X< 1 60°
X2 tan1(2-+3)
W 3 45°

X4 tan™?

B | =

Q.6

of Voumg™s Modubes (1) of e material ol & beah Iy S method of Bexnme is

ebtamed unng the Semula
mgd?

. :.:-.': o -; I
Question ID : 1679436819

¥ Shdvd
Whese ai = the bad apglied o the e whoss valise is epplied
I = Bergeh of the besm, meured by & meetre scale heving smallent dhvivica, | mm
b= breatls of the beam meavured by & ulids callipers having Vernier Comaam, 0,01 cm.
#-wmﬂhmmwummuﬁ;mwwuumm &
-wmuumm-nwwﬁnwwmmmmkmm
eqeal 1o .01 mm
Fiaeh the s posible ¢ ge oo fox of m
Tam b=2em d=08 o § =2mm

#.miﬂﬁ“mmmmﬂ'

X1 2.0%

X2 21%
X3 1.8%
W 1.9%

. .

Q.7

Atwo— dmnmnaﬁ.muegm\e potential is given by,
Vix,yrm x? —xydy® ,@?]mﬂes)

Cruestion 10 : 1679436806

Wiat is the work done in taking a particle in this field from (2. 1) to (3, 2)?
X137
X257
W3 aJ
X427

Q.8

Ans

Ins the case of an limensi otian, the relati
r= 2, a(Tosx —snx),

between to velocity (1) and position {x) is given by.

Creestion 10 : 1679436820

Where *a " 15 a constant, Find its actelenation

X 1 —2axcosx
X 2 2axcosx
v —2axsinx
X 4 2axsinx

Q.9

Ans

hittps:/icdnd digialm com/iper/gd1/pub/1258 touchstione/AssesementQPHTMLMode /112580182581 25801 8258560 526/1530971197TB35355/203,

mus”" What proportson af his mmergy weskd hi be able 1o wave i b throws the bricks, o e each of them jusd nosches

A labogrer theows bricks fo another lebourer vertically above him by 2w, 5o that each brick reaches him at a speed of 4
him? (g = 10ms—*)

Cuestion 1D : 1679436805

50073
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v
X 2

> 3

X a

Q.10 s .
Kgm?s™2A7? is equivalent to: [ Question ID : 1679436816

Ans 1. Watt
o 2 Henry
< 3 Ohm
& 4 Fardo

trmcks 2 km from the station in he same direction s that of the motion of the tmin. Find the co-ordimates of the

lightning Dk i measuned by an obsrier of S tation.

Q.11 A vemmoving wath a velocity 40 kan‘tr passes Srough & station o1 9 AM. Afier 1.3 min a lightning bolt strikes the =
e [ Question ID : 1679436821

ans X1 x =1km,t=9h A o
X2 x =2km,t=9h30s '
:ix=2kmt=9h1m30s
X4 x=2kmt=9hm

Q.12 A bomb explodes in mid-air. What will be the path described by each splinter?

Ans X 1 Ellipse
V' Pasabol
X3 SUmEhrIme
< 4. Rectangular hyperbola

Queestion 10 : 1679436310

Q13 For which among the following is the SI unit Nsm=2 ? Cuestion 1D : 1679436814

Ans X 1 Surface tension
X 2 Tensile stress
/< 3. Viscous drag

« 4 Coefficient of Viscosity

G114 A body of mass *# ° bowmces on hard ground from & beight © &, * and after rebound rises 10 8 beight * & *, Find the
sgulis. [ Cuestion 10 : 1679436803

Ans ¢ 1
{V2g m(y/h; + /h;)} in the vertically upward direction

Xz
{V2g m(/hy + i)} in the vertically downward direction

p G

{V2g m(yhy — /R, )} in the vertically downward direction
https:ifedn4. digialm.com/fperigd1/pub/1258 touchstone/AssessmentQPHTMLMade1 /12580182581 25801 82585605261 53087 11977835355/203... 5173
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X a,
{V2g m(/hy — \Jh,)} in the vertically upward direction

Qr15 A urgRem wig & cin. long i hent B0 i shags of s Wanghs AR, wach that the ddes IC C4 AR miberao 4 51 & [

Three parmscles of masees v, ¥, 7 (in gramy) are placed a1 4. B © and i i fond That the centre of graviey pesain

umchasged Then, x ;¥ - 7 b sqqum toc Question 1D : 1679436811

A X% 3201
X26:5:4
K D:g:7
va11:10:9

Q16 | Mev expressed in HP-hr is equal to: Question ID : 1679436818
Ane X 1. 5.967 %1071
v 2 5967x 10720
X2 2984x 10710
X4 2984 x 10720

P (350404 ) =1 B)

Q.17 A bedy of mass 2 kg is maoving along a path. vuch that it position vector expressed a5 a fimction of time 'ugh'mb;r.{
Whasie 't i in metres and ' i i sedonds. Fisd the work dong om B body during 1= 0101 = | se,

Question ID - 1679436807

A K1 527 4 72 o
X2727 : A @
X241
Wi61]

€118 Witk the ohjective of minimizing pervonal error in of & uampy.mpuwd't'm“[

0001 om, the meanrement was laken Brice and the readings were 0513 cni, § 315 o and L3148 <m. what shoudd be

recorded a the avernze” Question 10 : 1679436817

Ans X 1. 0.313333 cm
X2 03133cm
X 3 031333 cm
¥ 4 0313cm

A partiche of mass 10 ¢ b redeasad 50 b o free fall Erom the point (4.0 {the figunes ane in metees). 1t torqoe at ame

ling 1" absna e orgm of co-ordmates i

Q.-'I n A rovo dimensionsl co-ondeate syviem b chown Sl the r-an is borizontal and y-axis points vertically dowmand.
[ Question 1D : 1679436813

Ans 1. Nil
X 2 Not independent of 1
X2 _04kNm
¥4 04kNm

Q.20 Which among the following is a (are) conservative forces(s)? [ o m—

(p) Gravitational force between two masses

(q) Force between two static charges

(r) Force between two current carrying conductors
(s) Frictional force on a rough surface

Ans X1 Only (p)
X2 (p). (@) and (r)

hittps:/icdnd digialm.com/iper/g01/pub/1258touchstone/AssessmentQPHTMLMode /12580182581 258018258560 526/15309711977835355/203, ., 52173
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« 3 Only (p) and (q)
X 4 Only (s)
Saction . Subject Related
Q.1 Find the centre of mass of three qual rods each of Jength *2 @ forming the consecutive sides of @ square.
[ Question 1D - 1679436841
Ans O 4
Ie st a distance of 2 from e cemtre:of the sqaare o the line throwgh the centre perpendicular to the middle rod
N 2
r:i;nmm‘f fresn The Semtre of the sgaare o U lisa (heough e coatre parpendicslar 1o the middls red
& 3 It is at the centre of the middle rod.
v
ni.mudi.mu::f froam the centre of the square oz the line through the centre perpendicular to the middle mod.
Q.2 A body of s 'm” pests on an inclined plane of isclination * =" in leniting equlitelum by way of spplocation of s D
z-:umma with the inclimed pharse. The coefficent of friction betwees the body and the plane is i . Then s Cuestion 1D - 1679436829
B
Ans L €OS & +sin &
X 1. mg.—
sinf + ucosf
oS & +pu sin & 5
X 2 mg. - v
ucos@ +siné
X 3 L COS o +sin &
. mg. -
g pncosf +sinf :
14 COS ¢ + sin oc
v mg. :
cosf + usin@
=
Q.3 A pemicle of maus 10 g moves sderiieinfhusncs of o foees feld # = 2 mntl + cost ] i & the parcle b
Ikt sk o, TR e, o ol e o b o iopled 3 e i b Question ID : 1679436835
ans o/ 1 400 sinf
X 2 100 sint
X 30
75 4. 200 cost
Q.4 A siwing OPQR is soch that O = PQ = QR hasses squal to 10 g are faviened of P, Q, R and these are made io rotate o
& amooth borizontal table. [f the strisng ahuwys remais strainght and taut, them the te=sion In the portions OF, PQ, PR Cuestion 1D - 1679436833
BE
Ans X'1.3:5:6
K21:2:3
XKar3:2:1
vi6:5:3
(1.5 A body of eass ‘m’ Bas been falling froas rest under the action of gravaity for ¢ seconts. Find the venizal force nequired
1 be appilied i oader 10 Being B % resl within snoter dialesce 'a". (0" 0 & kg and '8 |5 o setnes) Q‘LIESEJ'GH ID:-I&MBW
Ans « 1 gcz
e(1+)
g 2a
tz
x 2. m 2 i
'g da

hittps:/icdnd digialm com/iper/gd1/pub/1258 touchstione/AssesementQPHTMLMode /112580182581 25801 8258560 526/1530971197TB35355/203,
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X 3 Mg (1 +i~—:)

preatest height amained are 1.7 mond 27 m. what is the valoe of range?

Ans X1 48VZ m
v272m
X3 36m

X 4542 m

Q.7 Foratwo dimensional motion, the X and ¥ component of velecoies of the particle | are given by,
Z-6nsin2nt, 2= Inwcos2nt
It is also given that x = &, y=0at1= 0, The equation] of the path of the particle is:

Ans X1 x24+4(y—3)2=36
X2x2+4y2=9
Vi (x—9)2+4y2=9

Q.8 Two boats crows a river 400 m wide, The speed of each boat m still waer b 2.5 ma”™ lndmelpmdnl'l.hew = g

1.5 ™" One boat crosses due river along the shortest path and the time taken is p sec, uhuuu.mtuﬂxruuuu-. i ey 'Ch.las!iuniDﬂﬁ?ﬂdﬂ-EEEd
shortest time and the time talen is g sec. then (p - g Is equal o & L T ' il

Ans 110 o
V2 40 <
X320 )

X 4 Zero

Q.6 Forthe same velocity of projection a projectile has ot equal ranges for twn angles of projection cormesponding io which
[ Question 10 1679436826

Cuestion 10 : 1679436823

e —_—
Q.9 A particle is under the infitence of o central potential, giver by Ve _.lu Eﬁru‘hmm[
symbols have jheir mmrmm equilibrium position ufme particie
Ans |
R,

X a2

Cuestion 10 : 1679436837

CLAD A load W is mmsed by a rope, from rest 5o e, theough 8 height 10m. The lesat thme utmummhmﬂh{

‘Esu'.numﬂhwmmmmmﬂybﬂnlﬂ.'rnqﬂ]h: Question 10 - 1679436831 ]

Ans XLZ
xX23
Vs
X410

G111 A ball smoving an a oot horizontal plans in 8 straighs Boe with & velocity 100 ctmw! kito an identical ball which i st
rest, The collivios b perfectly elantic s the twio balli msve slong TWo stratght paths afber the collision. The velociry of Cuestion 1D - 1679436840
the First ball ets rediiced b 60 cms " find the angle between the direction of e ball after the collection.

Ans

hittps:/icdnd digialm.com/iper/g01/pub/1258 touchstone/AssessmentQPHTMLMode /12580182581 258018258560526/153097T11977835355/203, ., 5473
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V1 90°
X2 45°
<3 60°
X4 30°

https:iicdnd. digiaim.comifper/g 1/pub/1 258 touchstone/AssessmentQPHTMLMode 1/1258018258/1 25801 8258 560526/1 530971197783,

A bomb i iy im0 hree Twe of them haning masses 100 2 each move at an 120" with each other
Q12 sy g E

having eqaal velocolis 100 mé each. The third splimter moves in a direction epposite 1o the bisector of the angle i -
between the directions of motion of the first two parts with & velocity of magnisade 25 m's. what is the maas of the third Question ID : 1679436832

splimier in gms.

Ans (' 1.200¢g
X2 500¢g
W 400¢
Xa250g

.13 Abullet of sk S0g moving with & vebocsy ' striloe 2 Wock of maws Jkg. The block s [ned to mave im S drection of
the block. In the proceds tere i a Jow of Kinetic enerpy of 81900, find v & metees per w. Question 1D - 1679436838

Ans X1 4102
2 410
X 3. 205

X4 820 :

. Question ID : 1679436827

QA4 4B i o qeadribateral. Forces rop  in agnitude mad di wﬁ.ﬁ.ﬁ‘.ﬁmm_ﬁl\ r
darection of the resultmst force- G,

Ans o 1 bisects BD _
X 2 isalong AC p.
& 3 bisects AC 4
X 4. is along BD

QA5 A comservarive force nﬂcl..r‘h- o . %2y +dgfhek (25 = 3y = 20] + (45 = ¥ + 223k obasn the sealse
derived Question 1D : 1679436836

potential fmetion from whikh i kaabe

Ans N W &
X 5 -F_Zy&'——i--xy+yz—23x
- i
“2. _?+Ey2—z2—2xy+yz—4zx
22
X3 _x2_3y2—5+xy—yz+22x

2

z
X4 —x2 +3y2—E—2xy+}rz—4zx

Q.16 A plowe fame of rectangular dape weighing * kg s bung from a wall by 8 cord 5 cm long. fastened to two rings 3 an.
st the g e f the frame o e i the cond. (= 10 ") Question |D : 1679436828

MK 24iN
X2 E-EN

1
P 37;1\1

hittps:/icdnd digialm com/iper/gd1/pub/1258 touchstione/AssesementQPHTMLMode /112580182581 25801 8258560 526/1530971197TB35355/203,
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v 34%1&1

Q.17 Onambmy day when a boy is noning 2 a speed of 452", min sirikes him vertically ot a speed of 4 ma™" . For what
b o the bery w1l pain aévik hin o an ampde ol 487 Cuestion 1D 1679436825

Ans X 1. 2mfs
v 2 8m/is
X3 6mss
< 4 8\2m/s

Q.18 Aphb:hnmwllmlwlllhﬂm 01 starts Eom rest amd movoes with & unifonm acoeleration ‘o, Gl iff attaims a
" amd teen trnvels with umiform retardation b* il # agaim comes to nest. The total time of svel is 1" then, Cuestion 1D - 1679436822

Ans

X X
— F:l.|l-l D.]H =~

S
i
Qe (< <o

‘a b v - i [
- —
(.19 Twe balls of squal mass sre movieg in the wame divection alosg the same srmight time with velocitses of magninude i, [T -
the ratio 3 - 1. They sollide anu i the prosess boe 1% of thesr kinetic enengy I the coeffcient of eviurion i £, i 0 Cuestion |0 : 1679436839

X3
X2 ai
X3 5%
v 52

— —
Q.20 Which mueng the folkywisg is/nre the chamcteristics of & conservative farce fekd? [

() The frce can b dertved from o potential by taking its tegative space gradoent. Question 1D - 1679436834

() the wark dane ey the furoe round & closed path 1s zero.
(£ e Bortal mmeechanical anergy is 0 constant af tima.
{8} fioe' the mation of a partecle in the feld the gai in kinetic energy is oqual 1o the Joss in polential energy.

Ars o 1 (D). (@). (r) and (s)
# 2. Only (p). (q) and (1)
X 5 Only (p)
# 4 Only (p) and (@)

Section | Subject Related

Q.1 Ammﬂwhuﬂlﬂmﬁﬂllf#ﬁm BROWN - ORANGE - BLUE - RED - GREEN, s
resistance is

Ans x 1.
4.52 x 10° ohin with a tolerance of + 10%

2

hittps:/icdnd digialm.com/iper/g01/pub/ 1258 touchstone/AssessmentQPHTMLMode /12580182581 25801 8258560526/15309711977835355/203, ., 5673

Question 1D 1679436861




72018 https:iicdnd. digiaim.comifiper/g 1/pub/1 258 touchstone/AssessmentQPHTMLMode 1/1258018258/1 25801 B258560526/1 530971197783,

1.36 %X 10* ohm with a tolerance of +£0.5%
53

2.58 X 10* ohm with a tolerance of +0.5%
& 4. 36.8 ohm with a tolerance of +5%

required o risg another charge 49 . foom (o sway and place it ot the vacant come?

(.2 Toee charges are located ot the theee comers of & square (sach side = o) as shown in the figure. How much energy in i
Cruestion 10 : 1679436859

Ans 2
-1 : 3_
4me, a

Q.3 s clectic dipole of moment b is placed in  uniforsn electric feld of £, wuch that i meakes an sngle of 307 i 1r [ )
the dipote bt to be rotated tiroagh i sl 907 Bbout o axk perpendicular o . whst will be the wesk daoe? | Question |0 - 1679436845

X1 2 pE
I'-‘+
J?_ va+l bE

2

X EidE,

Ans

1
?(4-;1:»E

By (Rp = By mndd e dinterin spade being filled with o sameriad of nesistivity f . Find s resbutance

QA. A readitor han been prondded i the S of 8 spharical shell. Semed of fro concmitic muelaliic ephenes of radii Ry and
[ Question 1D : 1679436860

e Ra=RYS
27R, R,

(R; —R,)é
47R,R,

x 3 SR —R;%):
47R,R,

v &

i
x 4 OR2 =R,
27R,R,

maror, it scqmires an mogalar acceleration, o = 2 = 17 during the fing 2 seconds of its start. afber which it becomes

zero, What will be the total sngsilar displacensen (i terms of number of revalution) of the shaf) in $ sec”

Q.5 Anelectric mosor starts from rest and on application of o fongae on the shaft, that is about the au of rotation of the
L CQuestion |0 - 1679436842

hittps:/icdnd digialm.com/iper/g01/pub/1258 touchstone/AssessmentQPHTMLMode /12580182581 258018258560 526/15309711977835355/203, ., 5773
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Ans 16
p e
3

> 2

v

o ‘:;?lm = |

X a

3n

https:iicdnd. digiaim.comifiper/g 1/pub/1 258 touchstone/AssessmentQPHTMLMode 1/1258018258/1 25801 B258560526/1 530971197783,

Q.6 Anenubiing disc of mdius i, has 2 unifoms wrface charge desaity, 0. 1t rotates with an angulsr velocity w. Find the
total cirosiating ournent. [

Question 10 : 1679436849

Ans - X 1. 20wR?
X 2 LowR?

Q.7 A cosslustion in in the Borm of & rod of length I and cross - inctional mea 'A I temy soelfciost of
s g , The temperatare cosificlent of reumvaty of ifs malerial isap and ity coeffoient of Bsear thermal expankios b o
Find the spproximate relation between oy, dp And a

Question 10 :1679436850

ol BF LT
X2 ag= ap— 2a
X 3

«4. g
e e me

2
L)
|

=Q0g— Q

Op —

Q_a A uniformly charged splere of mdins I com hay a fotal dm'gqﬁlnhﬂ:l Find Sseceléctric feld intemity ol the cestre
of sphere In newines conlemb? 3 [

Cuestion 1D : 1679436846

Ans
x 1. ﬂ
5, |
Q
EGED

v @ Zero
Q
125¢,

r B

4,

Qs .

uf 1

Cuestion 1D : 1679436848

) T

A capaciiod of capacitancs £y i changed 1o & potntial &lerence ¥, . The chargiag battery b then discommectiad and Cy

18 comrected b @ capacitor X of uskmown capacitance. The potemial differencs Surow the combiaation is sow ¥y Find
the esergy soead in the sywem afler the vwineh 5 s closed.

Ans
x 1 %Cl (vl + VZ)V'J.
e §c1v1v2
1 _vy 2
~< 3 ZCI(VI Vz) Vi

X4 =Ci(V, + V)V,

hittps:/icdnd digialm com/iper/gd1/pub/1258 touchstione/AssesementQPHTMLMode /112580182581 25801 8258560 526/1530971197TB35355/203,
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Q.10 A particle of mass mv i at the poim (b, o) say B. The y-axis i chosen vertically dowsmand and the particle is et fall
from & pamallel 1o the y-axis, find the angular momentum of the particle about the onigin I sec after the ball Cuestion 1D - 1679436843

Ans

v 2mgbk
X2 2mgbk
Xs —imgbﬁ

x4 %mg bk

(1] Cabenilate the Kinetic merzy atmained by & charged partichs of mans s’ and chotrge " alber moving through a distance
" nlomg an ehestsic figkd £ Cueestion 1D - 1679436854

Ans X 1. 2qEb

1
p e P
2

v 2 qEb

qEb

QA2 A charge =2 is placed at the origin of co-ordinates md mnother charge + 2 i placed at [0,0) . How far from the origin
I the: pesolan ety o 0 the R chiaeges i 347 ! - . Question 1D 11679436855

AE ey (3—v6)a oo = x
X3 (3+2V6)a A
v (3+6)a =

mabraneter of 4 61 gies fill ncabe Seflestion when & Sment 0,00 throigh . Itia t0 be
Q.13 ;mﬂmMuﬁ%ﬂ&mmmmﬁmmrﬁp;::Muﬁ:;Wu Question 1D - 1679436853

nestanee, 404 obar. Fouwmlll e thesired ba achigved?
i

Ans o _

By commecting & ribitance 1496 0in serie¥ st e pahanometer and combinisg tt svailable shunt with the sid

N2

By conmecting a resistance: |4 S8 £2 in series with the pak and combinisg the wvallable shumt with the sid
WIS SO

p B

By connecting a resistance 001 £ i parallel 0 the shunt and connecting the consbination i parallel with the
malvancemster,

X 4

By connecting a resistance (.02 £2 in paralled to the shunt and comnecting the consbination in paralle] with the
gahancameter,

between the points A s B is 1pF . Al the capacitance values mdicaied ave m yF 7

Q.14 = e cirount shown what should be e valne of the capacitance of the capaciior 'C°, 5o that the equivalen capazitance
[ Cuestion 10 : 1679436858

Ans 156

125

hittps:/icdnd digialm com/iper/gd1/pub/1258 touchstione/AssesementQPHTMLMode /112580182581 25801 8258560 526/1530971197TB35355/203,
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334
I
V2 o WF

24

NFo—

17
i
105

Q.15 Two similar conducting balls of mass ‘m” and charge "q” hang from silk dreads each of length “1". Their angles of
incination wish the vertical is ench eqnal to & where &is very small B s simation the distance berween the balls h
“a" then one of the ball is discharped. Thereatber the distance betwem thee balls become “b'. Then 'B" in Serms of "2’
will be given try:

L (Z-Tl) a

X2 Z-Tl) a

—

X 3,
X a.

N|R &R

|

Cuestion 1D : 1679436844

Q.16 Ao

4

LF:

A

Ans 32
X 1. — watt
125
64
< 2 —watt
25
32
W @ — watt
25 ...-.
o A
4 —watt .
x 125 f

Question ID 1679436852

In th circuit shown i the figure all the resstances are n ohums, Findd the power dissipation through the § okel

QAT Twe dipoles having charges (—5, + ) snd ench of kngth 20 are phaced on the s-aus, such that the distasce betwees

theis xmtres b st eo-rdinnies of the charges of the Jefl dipoles are 3a follow: —q (0,0) sl +9{20,0), Fisd the
Fores of aNragtion cienied oo the lefl dipele by the right dipele

Ans qz '(bz_q.az) _i"
07+ 407 )

'(bz+4a2) i 1]
(b2 —4a?)? b2

(@l |
e ( % ) W +4a®) 1
(#:)

(2 —4a?)? b7

(0 —4a®) 1]
(02 + 4a%)? ' b7

|

CQuestion 10 : 1679436856

Q.18

hittps:/icdnd digialm com/iper/gd1/pub/1258 touchstione/AssesementQPHTMLMode /112580182581 25801 8258560 526/1530971197TB35355/203,
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A nerwork of coducton b made in e dape of & regular cctshedron by josing 12 equal condscces of wame
rondnotsnce {aach squal b 3 mbo) a5 chown bn e fgure. 1F die current enters through A and exii oo B, then fad
the equivalen condicmnee of the network i mho

via
X211
X3 8
X4 2

Q.19 A uniformly charged sphere of radius 2% cm has a total charge of . coulombs. Find the electric feld imensity 222 L

point # cm from the centre of the sphene, Cueestion 1D : 1679436857

Ans

X1

2
: F?Tﬂ] newtons/coulomb

(2.5

newtons/coulomb
€,

newtons/coulomb

Xa-S

e,

= i
X 4 2 5?“50 newtons/coulomb =3

e Cluestion 10 1679436847
I 1

" i it

Mllbqu;n:llmwuhlhq“mhhntm_w#w The equivaben capacitanes beiwesn
A B rl.u'm..u.um'beil—--ﬂ' Eﬂ{#ﬁ&meﬂqﬁm

Ans X1 11"-F
X 2 1.5puF
V3 3yF
X 4 11 pF

section ; Subject Related

Q.1 Four charges qy. 4y, — 95— 0% placed o the Sour camen A, B, C, Dol s square, whose each side 52", L b the
[ Question 1D : 1679436866

midpoint of BC. Find the work done in carrving a charge ;. from the centre of the square to L
A 142
" K Lun(Eoy)
V20
X Ll 1)

4mE, avs

1 qi14z
4mE; a

Q.2 | ]
hitps://cdn4 digialm.comiliperigd1/pubi1258/touchstone/AssessmentQPHTMLMode1//1258018258/125801825856D526/15309711977835355/203... 61173
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wmmmqu.r..r,mmwr,:c,;r.nzlzz*.mmmwl Ceestion 1D : 1679436868 I
equiraliont capasitances when connosted in series and parallel is 33 =F | Find the value of G,

Ans 26

v ' —nF

Q1.3 A series chomt consdits of a copper volt n battery of religiable boa. By adj the resistance box for 4 ohm, the

mﬂmﬂwndmucﬂe&n!uphiu'mhmndwmﬂh'l-uhnuxm-lﬂm P -
deposited is 40 gm in 20 mimshes. Find the intermal resistance of the voltmeter. Cuestion 1D : 1679436877

Ans < 1. 1 ohm
< 2 3 ohm
< 3 2 ohm
v ¢ 4 ohm

resistor mnd 2 battery of intersal resistance 0.8 ot I the bulb is 10 operate & the designed voltage, what must be the

Q_d A resistance R s connected in paraliel with a bufb (0.2 w. [v}) mnd the combinatics s connected in series with a 2 ohm
vahu of R

QuestionID : 1679438876

Ans X 1. 4 ohm
v 2 50hm
X 3 6 ohm
& 4 10 ohm

Q.5 Ammmﬂilmﬂﬂhhwulmmhimmhmmw
conddactance 2 mio. 1F currem enters into the sysiem from one of the four versices nd comes cut from the opposise i =
iy cr- b Queestion 1D : 1679436863

Ans X 1. 1 mho
v 2 4mho o
X 3 smho «
X 4 2 mho'

[ph The eqaipatmtial surfaces for an infmitely kong linsar charge ace cvlindrical, The aues af the cylimders being co-
mxial with the fine charge

(b Electric fleld lines mtervect the equipotenals normally.

() Twoo eqquipotestial nurfaces. may stersect,

(n3 For am glestric dipole the edquipstentas) surfacs i a plane ten perpenicularly bisects the ling josg the shamges
‘Which among the above rs'are true?

fns X1 (P)&(©Q
X 2 Only (1)
V'3 (D). (@ &(s)
< 4 Only (p)

Q.6  Civem belo' e fose stefemesny hassd on the Sonore of equiptenial.
[ Ceestion 1D - 1679436879

Qv i i i 5 i t
Four statements have been given below about Peltier Effect, Examine them [ Question ID - 16 884

(0} As aresult of this effect heat is absorbed and evolved at the same
time.

{g) The effect occurs throughout the wrait.

{r) If the direction of current is reversed, the hot junction becomes
cold and the cold junction becomes hot.

(5) The heat evolved and absorbed depends linearly on the
resistance of the conductors.

hittps:/icdnd digialm.com/iper/g01/pub/1258 touchstone/AssessmentQPHTMLMode /12580182581 258018258560 526/15309711977835355/203, ., 6273
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Ans 3 1. (p) and (g) are true; (r) and (s) are false
X 2 (g) and (r) are true; (p) and (s) are false
< 3 (p)and (s) are true; (¢) and (r) are false
o+ (p) and () are true; (¢) and (s) are false

https:iicdnd. digialm.comifper/g 1/pub/1 258 touchstone/AssessmentQPHTMLMode 1/1258018258/1 25801 B258560526/1 530971197783,

(.8 Apartich of charge 4, and mas “m’ moves in o croalar ocbot of padivs 2" sbout & fixed charge 44 . Express the
Eregaency (n) revolition s a functice of the midim mnd the charges mmd "

Ans i

XLZﬁa; m_Eo);

q19z2

X2 .3 5 (%::)i
e 2{12 (rrmen)%

9149z

1

= 1

X a4 - meo)z
2q44s

|

Ceestion 1D : 1679436867

ey

.9 A potentiommeier wire ha a total bengsh of 1000 o if ks driven by o cell of EMLF 4% having o reshitance 440 1 in
sevies. A wowroe of pocential difference. [0 mv gets balemced by a length off 60 cm. of the potestial wire. Find the value
of the resduance of the polentiometer wire.

A L 1000
<2300
X31150
V420

Question 1D : 1679436875

fi]

-

Q.10 Inthe circuit showm all the resistances are in ctmns. Find the power dissipation Shrough fhe & ohm resistince.
Wy

‘ — [:'ajmwam

=l

Cuestion 1D : 1679436862

QA1 A rsetal sphiere of radius R, carsies a charge Q. i s sisvounded by § sphenical shall of thickness (R; — B,) of a linear
iiedectric maneriad of p v €, Find the | ai the cemire of the sphere (relative o mfinity)

Ans XL—-E—(EI' +L_L)

4w \€,R, €R; E€ER,

Si it 5]

4w EnRz ER: ERZ

Xelft gt

4m \e,R, €Ry ER,

[

Cuestion 1D : 1679436870

hittps:/icdnd digialm.com/iper/g01/pub/ 1258 touchstone/AssessmentQPHTMLMode /12580182581 258018258560 526/15309711977835355/203, ., B3T3



72018

Q (51 1
r . e e
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1
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s Qe ()
s () (2)
‘- @)
- (2)

aa ~

Q.12 A point charge +q is placed af a distance "a'; from m earthed circular metal disc of radios "a”y . Find the induced
charge

Cruestion 10 - 1679436871

whach option given below?

Q.13 Given Savg sesistances 2 11, 40 and 6 01, suitable combinations of tares cars prodece all the nesistances {im obms) of

Ans 8 5 22 11 22
0'12

75 em. fivn cemirg of the sphere i newlons/coulomb.
Ans x ; 25Q
. 43'|-'E°

X2 27Q

16mEy

4
W 2

gﬂ'Eg.

5 4 3¢

108me,

e

Q.14 Aoy charged sphieze of madian 25 oo has 2 908] charge of 8 Codumba. Fad the electric ﬁﬂd-lumwd lpht

o

Qeestion 10 : 1679436874

Ceestion 1D ;- 1679436869

ot e warfade of the wpfeere 16 cewinnl’ doukask.

Ans I : Q 1
" 4w E, 625

Kz_ Q _i

mE, 625

X3L

1257 By

X 4 4Q

25m Ey

Q.15 Awifeemly charped sphere of radine 23 o= ha a sotal chaspe of ) conilomba, Find the eboctric Beld imenaity at o point

Questicon 1D : 16794368280

Q.16

hittps:/icdnd digialm com/iper/gd1/pub/1258 touchstione/AssesementQPHTMLMode /112580182581 25801 8258560 526/1530971197TB35355/203,

Creestion 10 - 1679436881
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Four asvanpements of ciromits with capacitoes are shown below. Each capacisors has capaciiance equal to 1 pF-
{HH Ht

L L

Pl

—HHHHH—
w0 {4 '

| [CUHHHHE
- ILH_IIIIIII-'I I

Which among the above armangements will produce an equiralent capacitance 0.1 pF

Ans (1 (I')
X2 (p)

X3 (g
X 4 (s)

QAT In the circuit shown all the resistances are in ohms, Find the values of iy, i, 15 in amperes.

Cuestion |0 : 1679436873

L1
_||_m_

0 3 7

"W E T

13713 13
13 5 1

Kot ool

16"16"2

o B . B
15"15°15 Fa %
91 3 .8 b
“4 e Ly
13%33713

Q.18 A coment of # smp fiown throogh a wine of dismeter § g, if the o hom of charge carmies v 2 % 107 m™" _ Find
the sverage drift velexity of thedlatmn s (¢ = 16210777

Cuestion 1D - 1679436872

Ans X' 1 g
<24
v 2
X4 3

mad 0 resistancs box, By adjusting the reiistance box for 4 ohm, the mass af copper deposdted af the ¢athode in 10

n.jn A WETIER Gieui] somasts of B ooppe Vol (weemal peintandg = 4 alen), & baney of neglipible Eermal revinance
mimutes is 30 gm. To what valoe should the resistance box be adjusted to have a deposit of 40 gma of copper in 20

Cuestion 1D 1679436865

e

Ans X 1. 5 ohm
X 2 6 ohm
X 3 10 ohm
v 4 8 ohm

angle & with each other. Xow:, the metal spleres are suspended in a liquid of desiny 0.6 gmice and dielectric

Q.20 mnldﬂ:ul:ly spiveres are suspended by sizings of equal lengih. Ar the equilibrien position the strmgy make
mm‘ Finad 1he demnzny of the materaal of the spleres i the angle betwoen the virings ramin wchanged.

Cuestion 10 : 1679436878

Ans X 1. 0.9 gm/ce
v 2 1.2 gm/ce
X 3 1.6 gm/ce

hittps:/icdnd digialm com/iper/gd1/pub/1258 touchstione/AssesementQPHTMLMode /112580182581 25801 8258560 526/1530971197TB35355/203,
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< 4. 0.8 gm/ce

Section ; Subject Related

Q_'l hlhimmh'lh figuire, the intermal resstance of the battary i 0.8 ohun. AR the rediatamces shown arg in chma
Fickd o carmeat o the battiy Question 10 - 1679436885

Y

| i {J ;,,,,___‘
Aos o4 j.’:amp
X 2 2.5amp

¥ &1 2 amp
< 4. 1amp

Q.2 a«llm&nmrmﬂdmﬂm:hm»fﬂmumw el apga 0,74 4 . Find the potmtial -
ditferencs [<ommict o 1o o plade of decimal) whidh geta lisk the plales o frovide & constant (it By Cﬂ.lastinn ID:-'EMB“: Y
deposh 440 g of copper on the cathode in | bour (Take E.CE of copper equal 10 3% 107" kg€ e =

Ans X 1 04V
X205V
X306V 4 e
vi03V 4 98

s v =

relation j = kr {17 -}, Where the symibels have theit usual seantngs. Find the total curvent.

Q.3 Thecurment density i a conductor of circuler cross - mnfmﬁlmmnﬂmuwﬂ'&e e
: [ 4 Question 10 : 1679436884

p

X | K a3
12
X 2 ®E ;i
& -
v 21:&’@_%) &3
X 4 2nK @-%) o

O Awpuars kg of e d pplaced b usdliam maghenis (el of ndkation 8 vadh that plane of the Sop i peipeslivda
wmm.p:}h:n.dd The loogs b mmedddendy pulled om of the Betd Find e charge ten fhows theongh the loop. Cuestion 1D - 1679436890
Ressitance of the Joop i L 2

Ans Ba

applied 10 e primary cofl. Find the voltags acroes e secondany coil

Q.5 !natransforser the pumber of tem in primaery and secondary coils e 100, sed 200 respectively. A signal of 500V b
{ Cuestion 1D : 1679436894

Ans 1. 1000V
X 2. 2500V

hittps:/icdnd digialm com/iper/gd1/pub/1258 touchstione/AssesementQPHTMLMode /112580182581 25801 8258560 526/1530971197TB35355/203,
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X 3200V
v 4 100V

of inducticon B (s scting perpendiculsr 1o the plame of The wisel. Fimd the o2 1§ indaced bhetween the mds and a point on
f=n.

Q.6 A cyele wheel bas X wpoies the i of the cycle wheel by v, 10 b potating with an angelar Srequency w magmetic fleld
[ Cluestion 10 1 1679436899

e X1 M
2
v &3 Bor
2
x = 5 NBWI
x 4. NBar

Q.7 Three statements are given below regarding joule heating effect- )
{p) Heat is evolved as well as absorbed Question 1D : 1679436888
() The effect takes place throughout the circuit
(r) On reversing the direction of current, cooling takes place instead of heating,
Which one(s) among is/ are true?

Ans 5 1 Only (p)
V2 Only (9)
X3 (@& @) w
X @& a AL

. - "
Q.8 .tpnﬂ:lﬂ.pl.lﬂ.q)xmrmmdw-ﬂdlmw.mphmmaGmlpdﬂdw*T %

®

after which fhe charger |s removed. A& diebeciric slab of deckness 1" and dielctnic comant E by then placed

wymmmetrically between the plates. In this siustion. What is the potential difference acrons the plates? Cluestion 1D : 1679436882

p

Ans

v et 1- )
X2 tpea (1~ 2)
X2 2

X4y, (1 4-1!1(’1 % 3]

©.8  Th sl stisctiness of tw ool sce 3 il and # mH. And avvame thet s cosficient of corplin s 1 then fiad their
e Question 10 : 1679436893

Ans X1 16 mH
X 2 6mH
v 3 4mH
X 4 32mH

Q.10 Inani-C- R series circust the vollage across the eductor, capacitor and Resistor are B0V, 40V, and 30V
respectively. Fand the veltage applied across (he L-C- B series combanation. Cluestion 1D - 1679436895

Ans X' 1. 150V
X 2 zero
V'3 50V
X4 70V

Q.1
Cuestion 10 : 1679436886

hittps:/icdnd digialm.com/iper/g01/pub/1258 touchstone/AssessmentQPHTMLMode /12580182581 258018258560526/15309711977835355/203, ., 67173
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In 1he circuit shown all the reséviances are in ohms. Find the power déssipation through the 4 ol resistance.

[ ]
_“:..L'E-L+$_
D ‘

v

Ans 1. 2,88 W
V2576w
X3i72W
X4 1.44W

with it A souree of potemial dffersnze 10 m gets halancad by & bengah of 60 cm of the potestiomets wire. Find the

valia of B if the meistance of the potmtiometer wize is 20 ohm.

Q.12 A potentiometer wire has & tofal lesgth of 1000 cm, I bs driven by & cell of EMLF 4V having 2 resistance R i series
[ Question |0 - 1679436887

Ans X 1. 620 ohm
< 2. 440 ohm
X 3 640 ohm
v ¢ 460 ohm

r :

the em [ ichued in the codl,

Ans X 1. 4V

Q113 Theself nductance of s cod i 20mH. In ome milll second the cument passing through it Secresses from 24 1o zevo. rm[

Question ID : 1679436897 =

X 2 4mV
X 3 40mV > Y6
AN b N 9

®

surdace of water. Find the appacent depth of coln. Refnctive index of waer b - Cluestion 10 1 1679436900

Q.14 .um-nptm.dnuzboumm*.m-ﬂhmHuuedmuummummmmﬁ’g{
e

Ans X' 1. 16 cm
X2 48cm
X3 12cm
v+ 9cml

A ol nf lenglil b placed in. :wwﬁ: fizld of indaction B. The rod s moved with velociny V' as whown. Fisd
Q 15 the &1 cead acion s

Question 1D : 1679436891

Ans o 1 BlVs€n®
X 2 zero
X 3 BlVcos6
X 4 BIV

circular loop find thesr coeffichent of murtual

Q.16 Asthe conre of a circalie loop of radie . & squire koop of side o 2.+« £ s placed as shawn. If carrent is pavesd teough
el [ CQuestion 1D : 1679436892

Ans 2
o
"S5

hittps:/icdnd digialm com/iper/gd1/pub/1258 touchstione/AssesementQPHTMLMode /112580182581 25801 8258560 526/1530971197TB35355/203,
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g
S

Hoa
LYY

Koa
4 —
X4 g

Q.17 A point sounce is placed a the bosom of & beaker sod filled with liguid of nefractive index y 10 a beight b Find the
mimimen tdivs of the disg 10 be placed on the sarface of the biquid 1o stop the ligh anerging oo of the liguid, Cluestion 1D - 1679436901

Ans h

Q.18 Twocpscitons €; and € (£, > Cp ) are connected in series with a supply of voltage V. The total elecerical energy A5 =3
o the capacitors in this sissation is ¥ . Then ey are comected in parallel 1o the same supply voltage, and then the Question 1D : 1679436883
alostrical enéry of the capacitons i E; . Find €y in serms of V. Ey By | —=
=)
4

" V% B+ JEI-4E, Ey)
X2 — (E,+ JEZ —4E, Ey) &
Xl E-EG)
X 4 % (E;+ EZ—E, E;)

Q.19 An mductor of inductance 2mbl and a capasiror of capacitance 2uiH and a capacitor of capacitmoe SmF are comnected
el P e gl Lt et Question |D : 1679436898
Ans 1550 4
v —HA

s

Xz.@ﬂz

n
X 3 500nHZ

> a @HZ
T

resistance is 4001 Fimd the power factor of the cineuit

Ans of 1. 0.8
X205
X3
X406

Q.20 inan L-C- R serigs circuit, induction and capacitive reactances are 504 and 200} respectively and
[ Cuestion 1D : 1679436896

Secticn - Subject Related

f 1]

hittps:/icdnd digialm.com/iper/g01/pub/1258 touchstone/AssessmentQPHTMLMode /12580182581 258018258560526/15309711977835355/203, ., 6973
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Constructivist development model by Vygotsky signifies: |

Cuestion 1D :

1679436904

I

& 1 Working individually
X 2 Reading

« 5 Discussing with peers
X 4. Learning by doing

Q.2

Ans

Education of girls is seen as “Education for social cobsion rather than Social progreis™ Ia which of the following
docamenty?

Ceestion 1D :

1679436908

< 1. NPE 1986
X 2 NPERC 1990
X 3. NCF 1975
' 4 NCFSE 2000

Q.3
Ans

Which of the following is the epistemological basts for scientific knowledge, according to pragmatists? (

Cuestion 10 :

1679436916

X 1. Problem solving
< 2 Interpretations
X3 Opinions

« ¢ Experiments

Q.4

Technology aided learning can substitute a teacher effectively when we use: [

CQuestion 1D

(1679436910

X 1 Programmed learning
v 2 Interactive e-lessons

< 3 PowerPoint presentations
X 4 Audio-visual aids

Q.5

Ans

The objective of poems in languages is to learn:

CQuestion 1D :

1679436913

X . Singing
« © Aesthetics and varied expression

& 3. Rhythm
X 4 Action

Q.6

Ans

Concept formation is a result of:

Cuestion 1D :

1679436905

X 1 Teaching
X 2. Drilling
X 3 Memorising
' 4 Perceptions

Q.7

hittps:/icdnd digialm com/iper/gd1/pub/1258 touchstione/AssesementQPHTMLMode /112580182581 25801 8258560 526/1530971197TB35355/203,

Which of the following is a key mathematical skill?

Cueestion 1D :

1679436907

+' ' Computing
X 2 Tllustrating

FOT3
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X 3 Drawing
X 4. Observing

Q.8

Ans

Which element do debate and extempore speech help to develop?

Qeestion 10 : 1679436906

X 1. Writing skill

+ 2 Being articulate in speech
/< 3. Emotional intelligence
X 4 Reading fluency

Q.9

Ans

Inclusive Education policy is an initiative to support the larger objective of {

Choose the rnight option

Crsestion 10 : 1679436903

< 1. Minority education

& 2. Girl child education

X 3 Special needs education
v 4 Education for all

Q.10

Ans

Which quality of a test reflects its desired outcome?

Question 10 1679436917

1 Functionality
X 2 Reliability
v = Validity

< 4. Feasibility

i

Q.11

Science teachers can enhance their proficiency through reading by:

“ 1

Crsestion 10 : 1679436911

Substantiating 1essons with latest scientific developments
X 2 Giving home assignments

X3

Updating with latest scientific developments

/< 4 Discussion with colleagues

Q.12
Ans

Ramesh secured 15th rank. Which type of test was this evaluation based on?

Question 10 - 1679436918

+ ' Norm referenced
X 2 Standardized
X 3. Criterion referencing

X 4 Diagnostic

Q.13

Ans

hittps:/icdnd digialm com/iper/gd1/pub/1258 touchstione/AssesementQPHTMLMode /112580182581 25801 8258560 526/1530971197TB35355/203,

Special educators help teachers in:

Cuestion 1D : 1679436921

X 1 Instructing
¥ 2 Remediation
< 3 Talking to students

TT3
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< 4. Reporting

Q114 Peelam 11 months booked for help from her snother 1o grick up 3 doll Srom the top of 3 table bt ot the age of fwo e
pulled a chair and climted o o o reach the doll. What Sevelopnent had wakm place” £ .
Complete the sentence choosing the comect oplion. Question 1D : 1679436902

& 1 Physical development

Ans

+ 2 Cognitive and physical development
X 3 Emotional development
X 4 Language development

S i ot o et i sl ot S i s At
il Ry

v 2 (10)

X 3 (01)

X 4 (0)

Question 10 : 1679436915

Q16 What does the acronym HTML stand for? Qusstionds diheselle
Ans o 1 Hypertext Markup Language
X 2 Hyper Transfer Marking Language
X 3 Hypertext Marking Logic
/< 4. Hyper Text Multiple Language

e —————
Q.17 A social science lesson takes responsibility of inculcating which of the following valies? [

Ans 1. Understanding population trends
« 2 Appreciation of land, culture and heritage
X = Knowledee about location of resources
/< 4 Awareness about technology

-

@18 Taking feedback from children after the lessons is: [ i 5 B TaAaeG
Ans 3 1. Reporting
« 2 A Classroom Assessment Technique

Cuestion 10 1679436909

X 3. Lesson planning
X 4. Assessment

Q19 Story telling comes from the art of: Question 1D 1679436912
Ans X 1. Acting
X 2 Explaining
+ ° Narrating

X 4 Memory

0120 The cles scldaled 1o go on i educational tour 103 foet. What could be the best alerace plan the teacher can have for
Aushesh who wes crotches to walkc?

hittps:/icdnd digialm.com/iper/g01/pub/1258 touchstone/AssessmentQPHTMLMode /12580182581 258018258560 526/153097T11977835355/203, ., 72173
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Ans X 1 Give him a holiday
« 2 Buddy system for mutual support

X a
Ask him to stay back in class and complete an assignment

X 4 A movie show

Cheestion 10 : 1679436920

I
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